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1. Match List-I with List-II and choose the 4.
correct answer with the help of given
codes:
List-I List-II
(Fruit) {Edible Part)
A) Mango 1. Aril
B) Apple 2. Mesocarp
C) Litchi 3. Thalamus
D) Coconut 4. Endosperm 5.
Code :
A B CD
@ 3 2 4 1
B 2 4 3 1
¢ 2 3 1 4 6.
@ 4 3 2 1
2. Which one of the following pairs is not
correctly matched?
(Disease) (Causing Germ/
Bacteria)
(a) Whooping - Haemophilu
Cough Pertussis |
(b) Syphilis — Treponema
{c) Sleeping - Try
Sickness
(d) Delhi Boils
3. Match List-I
correct answer
~ codes:
List-I 7.
{Common Name)
A) B2 1.
B) B3 2. Riboflavin
C) B5 3. Biotin
D) B7 4. Niacin
Code :
A B CD
@ 2 3 4 1 8.
) 2. 4 1 3
c) 2 3 1 4
d 3 2 1 4
SERIES: A Page No. 2
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1. The proton was discovered by
Rutherford in 1919.

2. Its mass is 1.67 x 103! kg.

Choose the correct statement(s) :

(a) 1 Only (b) Both land 2

(c) 2 Only (d) Neither 1 nor 2

Consider the following statements :

The instrument that measures the speed

of air in terms of the speed of sound is :
(a) Megaphone {(b) Manometer

{c) Machmeter (d) Oscillograph

are two statements, one is
sertion (A) and other as

Both (A) and (R) are correct, (R) is the
correct explanation of (A).

Both (A) and (R) are correct but (R) is,
not the correct explanation of (A}.

(A) is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.

Under which of the following Acts, an
Indian member was appointed to the
Viceroy's Executive Council for the first
time?

(a) Indian Councils Act 1861

(b) Pitt's India Act 1784

(c) Government of India Act 1909

(d) Government of India Act 1919

In which schedule, Centre-State
relations are described?

(a) Eighth (b) Ninth

(c) Sixth (d) Seventh

P.T.O.
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1. GEI-1 W GE-11 @ gafera = qen - fie g 4. frafafes wa ® faar =i-

FHE HT TEEA W T W Y- 1. W @ 1919 § WRE ¥ F o)
TER-1 eI 2. THEH FAHM 1.67 x 1031 L R
(%) (@™ g W) A HIT/FAN & TIT -

A) 3™ 1. e (@) HIA 1 (b) 1 R 2 B

B) W 2. Wy wetafa (c) Hael 2 d TA1TE2

C) =t 3. SR

D) i 4. yomm 5. o1g <kt i st saf i nifa & uE ¥ ww

e A9 B
we:
A B C D

@ 3 2 4 1

b 2 4 3 1

© 2 3 1 4

@ 4 3 2 1

()
(a) Tl @it
() fowfam
(c) wfym fas
() el wigr (A) T (R) R & § R (R), (A) #
o) e & W 2
3. A1 g (0) (A) & B WY (R) T
FZ T WG (d) (A) TER § TR (R) TE B
El-1 v I
( WTEOT T ) ; ol . feafafes o o fea srfafem & aga el
A hE T T ST Ty FwrEATiereRt gy o S
B) o, e fage foran an?
c) (a) wRdE uftwe sAfafw=m 1861
D) (o) Tuew sfea R 1784
' - (c) R wmeA faf=e 1909
® (d) 9 wmeA fafEE 1919
A B C D -
E;) 3 i j ; 8. Tg-Tg Waier forg oTRg=h o afvfa €7
© 2 3 1 4 (@) oSl (b) Tl
@ 3 2 1 4 (c) Bl (d) et
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9. Which of the following statements is/are
correct?
1. The Indian Constitution establishes
the parliamentary system only at the

Centre.
2. Indian Parliament '3 not a sovereign
body.
The correct statement(s) from the above
is/are :
(a) 1 Only (b) 2 Only

{c) Both 1 and 2 {d) Neither 1 nor 2

10. Match List-I with List-II and choose the
correct answer with the help of given codes:

List-I List-II
(Article) {Subject)
A) Art. 169 1. Interstate Councils
B) Art. 275 2. Grants from the Union

to certain states
Appointment of the
Governor
Creation or abolit]
Legislative Co
the states

C) Art. 155 3.

D) Art. 263 4.

Code :

A B C
{a) 4 2 3
b 2 4 1
¢ 4 3 2
@ 1 2 3

11. Regional counc

(a) The President
(b) The Parliament
(c) The states

(d) The cabinet

12. What is the reason for the origin of
islands arcs?

(a) Subduction of the North American
Plate under the Pacific Plate

(b) Subduction of the Eurasian plate
beneath the Pacific plate.

(c) Subduction of the Pacific Plate under
the Eurasian Plate.

(d) Subduction of the Indo Australian
Plate under the Pacific Plate

SERIES:A
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13. What is the main source of magma that
reaches the surface during volcanic
eruption?

(a} Upper Crust
(b) Inner Core
(c) Upper Mantle
(d) Outer Core

14. Match List-I with List-II and choose the
correct answer with the help of given

codes:
List-I List-II
(Volcano) (Country)

1. Hawaiian Islands
2. Myanmar

3. Ecuador

4. Antarctic

>
%hlch one of the following pairs is not
orrectly matched?

(Region) (Mineral)

(a) Rampura Agucha-  Zinc and Lead

(b} Dali Rajhara —  Iron ore
(¢) Makrana —  Marble
(d) Noamundi ~  Coal

The Wellington Island is at which one of
the following lakes, where sailing
tournaments take place?
(a) Kolleru (b)
(c) Pulicat (d)

Ashtamudi

Vembanad

17. Which one of thé'following states in India
shares its border with three countries?

(a) Uttarakhand (b
(c) Nagaland (d)

West Bengal
Punjab

P.T.0.
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13, OTeIEl SR o SR OT|el W age

e T qeT Wi 82
@) T FE (b) TR &R
() I Hew (d) "I &R
14, FER-1 w1 -1 9 grfera = qen F=9 g
HE H B W e IW Y-
YEit-1 TE-11
( ETeTRET ) (391)
A) et 1. B9 &Y
2. HER
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4, IHIEH
TH § ¥ W we gafem
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TGN
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frafafea ¥ 9 ford wa giter ® aferes §ig
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(a) HIeTE (b) eT=HE
(c) Yelt®e d) =R
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(a) @IS
(c) RIS

(b) uf¥em S
(d) G
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18. Which of the following series of rocks are
found in Damodar Valley?

(a) Dharwad (b} Archaean
() Gondwana (d) Vindhya

19. Arrange the following mountain peaks
from east to west :

1. Annapurna 2. Namcha Barwa
3. K2 Nanda Devi
Code :

(a) 3,1,4,2 by 2,1,4,3

() 1,2,4,3 @ 1,2,3,4

20. Which one of the following projects/dams
is not situated on Chenab River?

(a) Dulhasti Project

(b) Salal Project
(c) Kirthai Dam
(d) Nimoo Bazgo Project

21. Given below are two stateme
labelled as Assertion (A)
Reason (R) :
Assertion (A):
pollution.
Reason (R): I
relationship be
Select the correct”
given below :

Code:

{(a) Both (A) and (R) are corré%?ﬁ,
correct explanation of (A).

(b) Both (A) and (R) are correct but (R} is
not the correct explanation of (A).

(c) (A) is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.

R} is the

22. Which one of the following is not used as
an anesthetic?

(a) Diethyl Ether = (b) Chloroform
(c) Nitrous Oxide (d} Streptomycin

SERIES : A

Page No. 6
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23. Which one of the following pairs is not
correctly matched?

(Trade Name) {Chemical Name)

(a) Washing Soda - Sodium Carbonate

(b) Hypo — Sodium
Thiosulphate
(c) Chile Saltpeter— Sodium Nitrate
(d Red Medicine - Potassium Nitrate
(Lal Dawa)

24. Match List-I with List-II and choose the
correct answer with the help of given codes:
List-II

{Caused by Bacteria)

1. Mycobacterium
Leprae

2, Mycobacterium

§§°%‘%&’Fuberculosis

Treponema

Pallidum

glosis 4. Pasteurella Pestis

= W o= - B
N A W N

Which one of the following pairs is not
correctly matched?

(Schedule of the (Subject)
Constitution)
(a) First Schedule — Territorial

Jurisdiction of
the States

Format of Oath
or Affirmation

{b) Second Schedule

(c) Eighth Schedule Recognized
Official
Languages
Three
Legislative
Lists

(d) Seventh Schedule

P.T.O.
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18. EmET et # frafefea § o fea wa &
TEE™ Ut et 87
(a) HRaTE
(c) Tiear

(b) eTfe=m
d) T

19. frfafen uda =ifesl wr gd § ufyens ot
I afkem wifag-

1. Srgon 2. AmEEwE
3. ®-2 4. =7 &
%‘.

(@) 3,1,4,2 b) 2,1,4,3
(© 1,2, 4,3 @ 1,2, 3,4

20. Trafafed § @ i v afEsE /iy famra
T W srafem T 872

21, WA weF g e
(A) 3R T ! HROT (
AfiTeRerT (A):

Ky

THROT (R):
ey Bl B
e &g T e 9

(@) (A) T (R) B W&t &
S Gl B

(b) (A) T (R) 3 Wt € foreg (R). (A) 1
et = Tl W 2

(c) (A) T& ? T (R) el Bl

(d) (A) TEm & W (R) HE R

22, frfafad 9 @ e T @ v Hyvemes &
w9 W g feman rer 2
(a) TF UGS SR (b) FAHH
() TEH SRS (d) WA
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23. frafafes vl § 9 =0 @ ™ @ gafem
& ]2

(=amarfies ) (Tt W)
(@) &EA giel - ufesy sEFe
(0) e ~ iferm o TeRe
(c) foeht wreedir - wifgsm e
(d) @ @ - ufirm e

24. -1 A EI-11 9 gAfaa =L qen f=9 e e

B CD
4 1 2
4 1 3
2 3 4
3 1 2
T R H
&t £2
(wifgem =5 (fawe)
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(@) UESH STEEN - T T &y
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(b) THO ST - vy W WhEE W
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(d) Wl ergEEt - A faemh i
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26. Consider the following statements in the
context of Supreme Court :

1. The President appoints a judge of a
High Court as an ad-hoc judge for a
temporary period.

2. The judges of the Supreme Court are
provided security of tenure.

Choose the correct statement(s) :
{a} 2 Only
{b) Neither 1 nor 2
{c) 1 Only

(d) Both 1 and 2
27. In the context of
recommendations of Balwant Rai Mehta
Committee (1957) on Panchayati Raj,
which of the following statements is/are

major

correct?
1. Zilla Parishad should be the exe
body.

2. District Magistrate should

Chairman of the District
Choose the correct statement(s
(a) Both 1 and 2 (b
(c) 2 Only

28. Given below a
labelled as /
Reason (R) :

Assertion (A): Inte

country in international
affairs.

Select the correct answer using the codes
given below :

Code:

(a) Both (A) and (R) are correct, (R) is the
correct explanation of (A).

(b) Both (A) and (R) are correct but (R) is
not the correct explanation of (A).

{c) (A) is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.

SERIES: A

Page No. 8

29. Consider the following statements :
1. Article
jurisdiction to the Supreme Court.

2. High Courts are the heads of the
judicial administration of the state.
There are 25 High Courts in the
country, out of which 3 have

143 provides advisory

jurisdiction over more than one state.
Choose the correct statement(s) :
{a) 1 Only (b) 2 Only
{c} Both 1 and 2 (d) Neither 1 nor 2

t-1 with List-II and choose the
er with the help of given codes:
List-I1
(Year of Estab.)
Court 1. 1866

30. Ma

urt 2. 1916
Court 3. 1862
4, 1884

;: 31. Match List-I with List-II and choose the

correct answer with the help of given codes:
List-I List-II
{Article) {Provision)

A) Art. 338 1.
B) Art. 148 2.

Election Commission
Attorney General of
India

C) Art. 76 3. Comptroller and
Auditor General
National Commission

for Scheduled Caste

D) Art. 324 4.

Code :

A BCD
@ 3 2 1 4
b 4 3 2 1
c 3 2 4 1
@ 1 3 4 2

P.T.O.
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26. Touad ey @ daed o frefafen weml 29. Trefefen wai | faaR &
R e wE- 1. IR 143, WO RS H HeEHR
1. Tafa ferelt e e & foRdt = TR TS a2
T R e & fou ok —mnediw 2. 39 WA T W e WOEE &
e e R THE B ¥ dW A 25 SeW AEed T
2. IS A % RN sl fo e @ 3 o1 AATUFR TF 9 1w T
) T Y H S R W Bl
T HAT/HIAA HI oG - : A HIT/HIA HT ST -
(@) Haa 1 (b) HaaA 2
EZ; j:?lzqﬁz (c) 1 3R 2 T @ T 1TE2
(c) Haa 1
(@) 1 aur 2
27. deradt U9 W SeEd T Hgar apd (1957)
w wqw Tawien & wWasf ¥ frefated
Fot § w-ard welt 287
7. foren ufteg HEfwr e g =il
2. foen dfom w1 orems, forenfuea
W
2
1
2
2
28.
-1 S gER-1 © gafaa e T g T
w2 HI GEEA W W&l IR -
TER-1 -1
(=T ) (3umier)
A) o 338 1. frafed smam
3 fau ML HE W T S F AT FHSC- B) o1 148 2. WG I MRS
=z C) ¥F 76 3. T UH weeiE Wi
(8) (A) @ (R) IFI W& ¥ M (R), (A) B W D) o3 324 4 U L A A
T w4 2 e |
(b) (A) T= (R) =HI W& ® fohg (R), (A) T A B CD
F& e T W @ 3 2 1 4
(€) (A) W& ? T (R) T R g g Z i i
(d) (A) Terd § 9 (R) WE B @ 1 3 4 2
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32. In the context of the Attorney General
of India, which of the following statements
is/are correct?

1. The President can appoint any citizen
of India, who is qualified in judicial
matters to the vost of Attorney
General.

2. The Attorney General can be removed
from his post by the Parliament
through a special procedure.

Code :
{a} Both 1 and 2 (b} 2 Only
{c) 1 Only (d} Neither 1 nor 2

33. Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) :

Assertion (A): The maximum number of

representatives of the Assembly has been

fixed at 500 and the minimum at 60.

Reason (R): This number depends on the

population of the state and its size.

Select the correct answer using the

given below :

Code:

(a) Both (A) and (R) are correct
correct explanation of (A).

(b} Both (A} and (R) are cp
not the correct ex

(c) (A) is correct b

(d) (A) is incorre

34. Given below

labelled as As &
Reason (R} : e
Assertion (A): The it
serves for the remainiy the
former President's term office

of the President becomes va .
Reason (R): The post of Vice President of
India is based on the model of the Vice
President of America.

Select the correct answer using the codes
given below :

Code:

(a) Both (A) and (R) are correct, (R) is the.

correct explanation of (A).

(b) Both (A) and (R) are correct but (R) is
not the correct explanation of (A).

(c) (A) is correct but (R) is incorrect.

(d) (A) is incorrect but (R) is correct.

SERIES: A

Page No. 10
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35. Which of the following statements are
correct ?

1. The planet Venus revolves around the
Sun from west to east.

2. When Sun, Earth and Moon are in a
straight line, it is called Syzygy.

3. The Labrador Current is a warm
current flowing from the North
Atlantic Ocean.

4. For the first time in the Cambrian
period, the seas encroached the land

areas.

b) 2,3 and4
(d) All of the above

ist-I1 and choose the
£ :
@é@?ﬁh the help of given

List-II
Lakes) {Country)

A) . tbel Lake 1. Italy
%‘ ake Baikal 2. lIran

Lake Urmia 3. Russia

Lake Garda 4. France
Code :

A B C D

3 2 4 1

4 2 3 1
¢y 4 3 2 1
@ 2 3 4 1

37. Which one of the following pairs is not
correctly matched?

(Mountain Pass) (State/UT)
(a) Asirgarh ~ Madhya Pradesh
(b) Chanshal Pass - Ladakh
(c) Debsa = Himachal
Pradesh
(d) Bomdila -~ Arunachal
Pradesh
P.T.O.
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1. Uufd 9Rd & foedl A s s =l
A H1 AT B, S TR B 98 T
R U TRl B

2. TEHIRER! @ 6 U% ° 9O g faw
gferar @ BT S wehdl B

%\a'_
@ 1dM2EA  (b) e 2
() Hae 1 @ TA1IE2

T2 R wem Ry R, o @ T w5 sifiremed
(A) 3R @ ! HROT (R) a1 T -
AR (A): Taarme & wfafiRel =) siftera
W& 500 3R =T 60 T F T D
HRUT (R): IT T T &) SHEA U6 THH
TR 9T Feit B |
= KT MU we ¥ w9 3w H waw
He:
(@) (A) T (R) Ml WE ® a1 (R),
A H B
(b) (A) T (R) 3 &t §
TE @ e
(©) (A) W B T
d) (A) @ ®

SWegUfe % Hied W auiia B

2 KT T He ¥ W W w1 T wife-

he:

(@) (A) T (R) I W& € a2 (R), (A) 1 &Y
A I B

(b) (A) TN (R) I WE 2 AR (R), (A) H
e e T e 2

(©) (A) W& & W (R) T B

d) (A) TEE ® W (R) T R
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35. Treferfen o 9 wF-9 we W ¥?
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IREFHT HIT B
2. V& i, gt ol www @ W e o
T § @ W gf-feafa wea €
3. QETER G I SedfeR HeTrR ¥ 98
el T u R
4. hftEE s § guw SR Tl W O S
o1 SAfahHT g3

Eal

b—ﬂ)——al-ar-—au

37. Frfafes gl § 9 w9 @ w wdt ghfea
& 272

(=wt) (T==/
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38. Consider the following statements :

1. Narmada river originates from the
Amarkantak plateau.

2. Kshipra and Mor are its main
tributaries.

Choose the correct statement(s) :

{a) Both 1 and 2 (b} 2 Only

(¢) 1 Only (d) Neither 1 nor 2

39. Which one of the following pairs is not
correctly matched?

(Lake) {Location)
(a) Lakshmi Tal - Jhansi
{b) Deoria Tal - Kannauj
{c) Surha Tal - Ballia
(d) Payag Jheel -~ Prayagraj

40, Which one of the following is not a
government policy for momnet;
expansion?

Deficit Financing

=z

(b) Additional Currency Issue
(c) Hard Credit Policy
({d) Hard Industrial Poli

41. The market froyg
obtained as Ig

(a) Capital M
(b) Exchange Ma
(¢) Reserve Market
(@ Money Market

42, Which of the following is considered as Hot

Money?
{a) FDI (b) FII
(c) ADR (d GDR

43. The Foreign Exchange Management Act
came into force from ?

{a) 1 June 2000 (b)
(c) 1 June 1999 (d)

1 July 2002
1 July 2001

SERIES: A

Page No. 12

ERE
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44. Which of the following measures can be
taken to correct the Balance of Payments?
(a) Currency Devaluation
(b) Import Substitution
(c) Potent Export Promotion

(d) Allofthe above

45, Which one of the following is not included
under the Index of Industrial Production?

(a) Mining (b) Fuel
(c) Electricity (d) Manufacturing

46. ear, The National Stock

as established?
(b} 1986
(d) 1990

1

rd

k- ?’é“@k
1%@% statements is/are
N

st %@ﬁaving highest Scheduled
ulation is Uttar Pradesh.

‘district having highest Scheduled
o dste population is Rae Bareli.
)%%se the correct statement(s) :

2 Only (b) 1 Only

(c) Both land 2 (d) Neither 1 nor 2

—

The descending order of the three districts

having highest female literacy is -

(a) Auraiya, Balrampur, Ghaziabad

(b) Lucknow, Gautam Buddha Nagar,
Auraiya

(c) Kanpur Nagar, Lucknow, Shravasti

(d) Gautam Buddha Nagar, Ghaziabad,
Lucknow

49. As per Census-2011, which are the two
districts with the highest decadal
increase in rural population?

(a) Meghalaya and Bihar

(b) Bihar and Arunachal Pradesh

(c) Nagaland and Jammu and Kashmir
(d) None of the above

P.T.O.
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3g. TrafafEa s W foar wi-

1. e Y SRew % U8R § freper B
2. T SR AR SH Y9E Wews Afar gl

TE HAT/RI HT =TT B~
(@ 1aM2 I (b) Had 2
(c) ®ad 1 d F@A1AE2
39. frafafed 7 § @ ®F W T @ gatem
&t 77 |
(i) (%)
(a) wexft e -
(b) Jafen @ A
(c) T ae - e
(d) AW - WS

40. freafafed ¥ @ wF @ TF g5 WOR &
W it At e 87

41.

42, ﬁmﬁwﬁﬁaﬁﬁmmmmw%?

(@) TwSITE (b) TFHSTRSTS
(c) TEIR (d) SEtem

43. Tavht ugr usem orfufem wa © @ gam?

) 1 [ 2000 ¥

a
b) 1 SFIE 2002 ¥
c) 1571999 9

(
(
(
(d) 1 SIS 2001 §

SERIES: A
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frefefea o @ SF W SU WEE HEEE
W Bk w & faw feRar o HeRdar 27
(a) TR ST

(b) TR gfcreee

(c) yua frafa deeld

(d) S v

frefarfea 4 Q fre @ @ aireifies Saes
elenieh o i oiTet gl fowan ST 872
(b) e

) fafmfo

(@) @Iq

(c) faepa

1986 o
1990 o

(b)

() HIA 1
(@) TAAE 2

waituer wfger warar a@ @« fSel @
STEET Y &~

(@) e, srerEqe, M

(b) wrETE, Mawgg R, st

(c) HAE TN, TETS:, e

(d) TGS TR, MEEER, e

TEUT-2011 % STER, AHT e o
watfaer Twreia gig aret 2 faet =9 9 82
(@) HemeE iR faer

(b) ToeR IR erumeel T_w

(c) TeIvE 3R W T Y

(d) SUR H ¥ HIE =l
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BDHYEYA SCHOOL OF GOMPENTION

50. Which of the following religious
communities has the highest literacy

rate?
{a) Christian (b) Buddhist
{c} Jain (@ Sikh

81. The states with highest and lowest rural
child population are respectively :

(a) Uttar Pradesh and Nagaland
(b) Uttar Pradesh and Haryana
(c) Uttar Pradesh and Sikkim
(d} Nagaland and Sikkim

52. Consider the following statements

1. In the year 2010, the Central
Government had declared elephant as
the national heritage animal of India.

2. World Elephant Day is celebrated every
year on 12 August.

The correct statement(s) from the a

is/are :

(a) 2 Only (b} Both 1

(c) Neither 1 nor 2 (d} 1 Only

53. Match List-I with List-

correct answer with thé
List-1

(Sustaina

Dev. Goal

A) Goal3 1.

B) Goal9 2.
C) Goal 13 3.
D) Goal7 4.

Code:

A B C
a) 4 2 3
by 2 1 3
c) 4 1 3
@ 4 3 2

54. The Zoological Survey of India is situated

at .

(a) Bengaluru (b) Kolkata

() Dehradun (d) None of the above
SERIES: A
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EEE
“
55. Which one of the following pairs is not
correctly matched?

(Wetland) {State)
(a) Loktak Lake — Manipur
(b) Renuka Wetland ~ Himachal Pradesh
(c) Aghanashini - Tamil Nadu
Estuary
(d) Sambhar Lake - Rajasthan

56. Match List-I with List-II and choose the
correct answer with the help of given codes:

List-I List-II
(Species) {IUCK Category)
Critically

Endangered
Threatened
Least Concern
Vulnerable

ich one of the following means ‘to
attain Brahma Vidya by sitting near the
Guru’?

(a) Vedanga (b)
(c} Puranas {d)

Aranyaka
Upanishads

Match List-I with List-II and choose the
correct answer with the help of given codes:

List-I List-II
{Harappan City) (River)
A) Rangpur 1. Indus
B) Kot Diji 2. Dashk
C) Ropar 3. Madar
D) Sutkagendor 4. Sutlej
Code:
A B C D
@) 3 4 1 2
b) 4 3 2 1
¢y 3 1 4 2
@ 4 1 3 2
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i

50, frefafea § @ feg enfifer waam i wngRan
waiferes 87
(@) o (b) 5
) SH d) Taera

51. watfaes yrdor ua <gaw Jrdrer ] Sewe
a9 § HO: -
(@) I WRY TH ARATS
(b) W T wd Bl
(c) I WY w fafrrn
(@) "TRIve we fafEen

52. freAfafeag waml W foar wi-
1. 99 2010 H =% SR 7 gl T ARA &
ety fora wyy wiftm feman e
2. W 99 12 oFra i fava weft few

TR S 2
ITRiET B ¥ O ®UT 2
(@) HTA 2 (©) 1

(c) A 172 (d)

53.

(a)
(b)
(c)
(@

w wWw w

8

54, WD wion fammr wdenr @ fem ¥
(a) FTAE (b) TRICTRICT
(c) BUGH (d) U H W HIE AL

SERIES: A

Page No. 15

DRYEVA SHODL 6F COMPETHION

55. Prefafed ol § ¥ S @ UF @@ gitaa
=& &7

(o) ()
(a) WwTH FHiel - TforR
(b) YuRT STRHH - feorEa ww
(c) STy ggrm - dfherg
(d) @R e - eRYH
56. GeI-1 I -1 9 gafea wL aen = Ky e
H2 H HEEA § Wal IW G-
o1

( ITETHTH %‘r"f:r)
EIEE N IESE
g2ug

T HeH
FoRaA

1
2
3.
4

2
1
1

o frg @ w ad 2 e

Yeert orer foem wra wEr'?
(@) o= (b) TTIH
) T (@) ufeg

TE-1 Y gER-11 | gAfea ¢ aen e e T
H2 HI TEE W W8l I G-

Heii-1 -1
(ESHRIAT TR ) ()
A) TR 1. Ty
B) whIeISTt 2. TEH
c) qug 3. WY
D) HRER 4. HAAS
%2

A B COD
@ 3 4 1 2
b 4 3 2 1
© 3 1 4 2
@ 4 1 3 2
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DHYEVA SCHOOL OF COMPEYITION

59. During whose regime, Buddhism was
divided into two sects— Hinayana and

Mahayana?
(a) Ajatashatru (b) Kalashoka
(c) Ashoka (d) Kanishka

60. Which one of the following was a tax taken
in cash during the Mauryan rule?
(a) Vishti (b) Hiranya
(c) Bhag (d) Bali

61. Match List-1 with List-II and choose the
correct answer with the help of given codes:

List-I List-II
(Congress Session) (Year)
A) Amritsar 1. 1937
B) Faizpur 2. 1924
C) Belgaum 3. 1919
D) Surat 4. 1907
Code:
& B C
@ 1 3 2
) 2 1 4
¢ 3 1 2
d 1 2 3

62. Who among the fo
first Madrasa foi
Muslim educg

(a) Jonathan
{(b) Warren Has
(c) Robert Clive
(d) Ishwarchandra Vi

63. Consider the following tements

regarding Itutmish :

1. He was a Turk of Ilbari tribe.

2. The Caliph gave him the title of
'Sultan-i-Azam'.

3. Construction work of Qutub Minar
was started.

4. Changez Khan came to India during
his regime.

The correct statements are :

(@) 2,3 and 4 b} 1,2and4
{c) 1,2and 3 (d) All of the above
SERIES: A

Page No. 16

Li‘s%ﬁé
=l

64. Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) :

Assertion (A): Alauddin had established
the department of ‘Diwan-i-Mustakharaj’.
Reason (R): Its main function was to follow
economic rules and keep an eye on
markets and prices.

Select the correct answer using the codes
given below :

Code:
(a) Both (A} and (R) are correct, (R) is the
ct explanation of (A).

and (R) are correct but (R) is
correct explanation of (A).
but (R) is incorrect.

- List-II
(Travel Period)
1. 1292-1294 AD
1024-1030 AD
1608-1611 AD
1333-1347 AD

Marco Polo 2
Ibn Battuta 3.
William Hawkins 4

D)

Code:

A B C D
@ 2 3 4 1
b) 2 1 4 3
) 4 3 2 1
d 3 2 4 1

66. Consider the following events and arrange
them in chronological order:
1. Second Battle of Tarain
2. Battle of Talikota
3. Arrival of Portuguese in India
4. Death of Firozshah Tughlaq

Code : .
(a) 1,4,3,2 (b) 4,1,2,3
() 1,4,3,2 @ 2,4,1,3

P.T.O.
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59, frefafed § 9 faaes ores & § dig o
Y AWEE - € uE gt ® Ry e

T ?
(a) STSTAET (b) THIARNE
(c) 3WNH (d) @

60. Trafafed § @ #i7 T Wderelts smem o
e ®O W o ™ aren @ oar?
(a) fafie (b) &y
(c) @) afa

61. TEI-1 o FEI-11 ¥ gafem wL-ae = Ko e
HT HI eI ¥ TEl IW -
geR-1
(I 3rferay )
A) STHTR

B) HWR

-1
(ard)
1937
1924
191

g/ i
¢
AW N =

62. T o 9 form

63. Foqarayr & gey H 1w W famm wifse-
. T SFIS H g e
2. Geltwl ¥ S geE-T- 3T ﬁwrﬁq
TEH
3. SHYaHER w1 o e wrew fRa
4. S G T P R B R 3T

A HIA §-
@ 2,3 34 b 1,2 34
€ 1,2 8R3 d) ST ad

SERIES: A
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64. 9 wed e e E, W @ ww W afirmem
(A) &R TR H FRO (R) el T 3~
ATTRAT (A): STAREA A HaF-T-gRET
faam st g s ot
HIUT (R): 301 G w1 onfew frml 1
Wﬂmammaﬁ'{aﬂmﬁmwm
o)
ﬁ%ﬁqwm@@wmwﬁm
e
@) (A) @ (R) S W&l € a1 (R), (A) I GE

= F e

(R) T &l ® fRg (R). (A) B

ﬂiﬁm%

1292-1294 3.
1024-1030 &
1608-1611 %.
1333-1347 .

66. Trefafem geaet W fe=r wifSw qon 3=
AT B SaRgd sifag-
1. T = fgda g8
2. AR ® IE
3. qaierEl 1 ARd ST
4. fEiSonE g S I
() 4,1,2,3
(c) 1,4,3,2 d 2,4,1,3
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67. Match List-1 with List-II and choose the
correct answer with the help of given

codes:
List-I List-II
(Kingdom) {Dynasty)
A) Berar 1. Nizamshahi
B} Ahmadnagar 2. Imadshahi
C) Golconda 3. Qutubshahi
D) Bidar 4. Baridshahi
Code:
A B C D
a) 3 2 4 1
b 2 1 4 3
) 2 1 3 4
@ 1 2 3 4

68. Consider the following statements
regarding Lothal :
1. It is situated at the banks of Bhogwa
river, .
2. It was discovered by Jagapati J
1954,
3. Horse bones were found.

4. It was the main port for

ERRE

=l
70. A power display yagya, in which the king
used to organize a chariot race and the

king was made victorious by his allies -

(a) Rajasuya Yagya

(b} Vajpayee Yagya
{c) Ashwamedha Yagya
(d) None of the above

71. Match List-I with List-II and choose the
correct answer with the help of given codes:
List-{ List-II
(Gupta Period official) (Department)
Pashika 1. Police
' 2. Education
agagadhikrit 3. Treasury
& 4. War

West Asia. G g, .
Select the correct sta o} 1t.ier the. following statements
garding Fa-hien :
(2) 1and2 1. He was a Buddhist Chinese traveller.
(c) land4 2. He came to India during the regime
) of Chandragupta-II.

69. Match List-I 3. He visited cities like Mathura,
correct answer Kannauj, Vaishali, Kushinagar,
codes: Banaras etc.

List-I 4. He Received education from a
(Major Philosophy) Buddhist scholar named Jay Gupta in
. Kushinagar.
A} Purva Mimamsa 13 Badarayana Select the correct statements :
B) Nyaya 2. Jaimini (a) 1,3and4 (b) 2,3 and4
C) Vaisheshika 3. Kanada {c) 1,2and 3 (d) All of the above
D) Uttara Mimamsa 4. Gautam
Code: 73. After the end of Civil Disobedience
Movement which one was established
A B CD in Lucknow in April 1936 ?
@ 2 3 4 1 (a) Provincial Ryot Sabha
b) 3 2 1 4 (b) All India Kisan Sabha
() 2 4 3 1 {c} Uttar Pradesh Kisan Sabha
@@ 3 1 2 4 (d) Krishak Praja Party
SERIES: A Page No. 18 P.T.O.
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Bl
i
67. G-I i GRI-11 § AT =K aen == K e
% 1 TR § e W -
Eit-1 gei-1
(=) (TS )
A) T 1. T
B) STEHWETH 2. SERWE
C) TS 3. HIWIE
D) &L 4. wlemE
e
A B C D
@ 2 2 4 1
b) 2 1 4 3
y 2 1 3 4
@ 1 2 3 4

; .
2
C) aNifyes 3. UK
D) S e 4. Tham
he:
A B CD
@ 2 3 4 1
b 3 2 1 4
fey 2 4 3 1
@ 3 1 2 4
SERIES: A
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DHYEVA SCHODL OF COMPEYITION

70. T v ey aw, foed oo o w5 S
HT ATSA w7 SR TS GEANTER g

fosft s Srar an-
(e OSEE WW

(b) aTSYF I

(c) °SwauY IR

(d) ST ¥ ¥ wE @l

71. -1 gE-n @ gaEfaa e = TR T
T i HEEA § WEl A G-

Eft-1 -1
= rferenTd ) (favmr)
1. qfere
2. Toan
3. TSR
4, 9%
%@
N
1
4
2
& wgel ¥ e el W forem it

Tk g i Anh e
T Tt & e e H AR S
T, S, e, HITFR, TRE
T T wHr R
IR H S e dvg fage 9 fen
TR |
WE R/ T AT -

@ 1,3 R4 b) 2,3 34

) 1,2 33 (d) SR Tt

73. WiGME TEFT AT Tl HHITA o UgaTa,
et 1936 W TorE wer &t U TS W
F TE?
(@) I Y we
(b) wifEe IRdrE fFam |
(c) T Y= frum @
(d) FH g R
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DHYEYA SCHAOL OF COMPEYITION

74. As per Census-2011, district of U.P. 79. In context of U.P., which of the following
having highest scheduled caste pairs is not correctly matched ?
percentage is : (a) State Tree — Saraca Asoca
(a) Sitapur (b} Kaushambi (b) State Animal - Rucervus
(c) Hardoi (d) Unnao Duvaucelii

(c) State Flower - Lotus

75. Which of the following pairs are correctly (d) State Bird - Grus Antigone
matched?

1. Devichandraguptam - Visakhadatta 80. Which one of the following is used in
2. Vikramorvasiyam - Kalidasa making Gunpowder, and as fertilizer ?
3. Ratnavali - Banabhatta

(a) Aluminium Sulphate

4. Saundrananda Ashvaghosha

Choose the correct answer using the (b) ssium Nitrate

code given below : um Hydroxide

(@) 1,2,3and 4 (b) 1, 2and 4

{c) 1and 4 (d) 2and 3

is not a

76. Choose the correct statement regarding
the Concept of National Income :

{a) It shows the flow of produced
“and service in any period.

(b) Only the value of final g
services is considered in

(c) A fixed time period is asso
it.

(d) All statements icts of U.P. having highest Rural

Percentage in descending order are:
77. Which of the fol ' Gautam Buddha Nagar > Mahoba >
Hamirpur > Chitrakoot

1. Irregularity ! Shravasti > Kushinagar >
Maharajganj > Sultanpur

2. Reduction in the
3. Reduction in the n

n {c) Shravasti > Maharajganj >
in Kushinagar > Sultanpur

the sea. (d) Shravasti > Mahoba > Hamirpur >
Code : Kushinagar
(a) 1and?2 (b) 2and 3
() 1land 3 (d) Al of the above

83. Who presided over the “Tahkikat
Committee” formed to investigate the
Jallianwala Bagh massacre?

(a} Mahatma Gandhi

78. Which one of the following is not included
in the qualitative methods of credit

control?

(a) Regulation of Consumer Credit (b) Madan MOha? Malviya
(b) Sharing of Credit (c) Abbas Tyabji

(c) Reverse Repo Rate (d) Motilal Nehru

(d) Selective Credit Control

SERIES : A - Page No. 20 P.T.O.
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[s]
74. SUTT-2011 F TR 9T WS9T ¥ Walfaen
| srgfae wufa wferaar aren fver 2-
(e) TR (b) et
(c) WK (d) ==
75. Frefafea gl § SF-9 wdt gifea &7
1. e ENICES]
2. TomudEsim Hiferr
3. Teteredt WIS
4. URTR - s
frer faq T e W wET WY W SS9 gA-
@ 1,2, 334 by 1,2 3 4
(©) 1 ¥R 4 (d). 2 3 3

76. UL AT W NEEUNOT & A § HWEY
HAT -
(a) =E e wmamafy # senfeq aegetl
el H yarE w1 gwn 2
(b) T o Tregel T Haed
firn e 21
(c) TH& WY TH Tfeea w
Bt 21 |
(@) Gt wo W T

77. fafafemd @

(a) 1 32
c) 1 33

(b) 2
d) Sudsd gt

78. wWr@ TEEor = wwners fafr & orwla
frefofed § @ =i ot afmfoa =@ 87
(a) U TrE w1 faEa
(b) TG HT HHNSH
) fad W w
(d) =afwa wre e

SERIES: A
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DHYEYA SEHOOL OF COMPETITION

79. W WAV & Wad ¥ Fefafea § € s @
T wet gafea T &7

(a) USG9 - 9T ot
(b) TR Y - SRefEE
c) SN TT -  FHAdA
d) TTHEUR - 9™
80. frfofed ® 9 fg T #1 WA areg o9
TS S & w0 Y g }7

(a) TEGHFEM Wehe

SW YW ¥ waifuer urdter wfagraar oo
forer STaEt shuTEr -

(@) Maugs TR > "W > gAY > ez
(b) SRR > FHINFR > AEREAS > FEarTK
(c) HEE > HERISS > IR > G
(d) FEEt > WEE > FTHRER > HITR

83. WfqElATET &N EeA@HIUS @i witar & Tad
Tfea ‘‘agenteRra HAST W A R
&I ft?

(@) TETEHT TiTeft
(b) W& HiEA ATy
(c) oTeH q=mE St
(d) TR 7w
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DHYEYA SCHOBL OF COMPETITION

84. Match List-I with List-II and choose the 87. Given below are two statements, one is

correct answer with the help of given labelled as Assertion (A) and other as
codes: Reason (R) :
List-I List-II Assertion {A): The Ahmadiyya movement

was started in 1889.

Reason (R): Its main objective was to re-
establish the observance of the true form
of Islam.

{Party) {(Founder)

A) Forward Block 1. Ajit Roy
B) Indian Bolshevik 2. Subhash

Party Chandra Bose Select the correct answer using the codes
C) The Radical 3. M.N. Roy given below :
Democratic Party Code:
D) Bolshevik 4. H.N. Majumdar (a) Both {A) and (R) are correct, (R) is the
Leninist Party correct explanation of (A).
Code: (A) and (R) are correct but (R) is
A B C D 7 correct explanation of (A) '
a 2 3 4 1 rrect but (R) is incorrect.
b) 2 4 3 1 (R) is correct.
g 4 2 3 1
@ 4 3 2 1 foé}owing pairs is mnot

{(Founder)
Jyotiba Phule

85. Who among the following wrote the
“Bhavani Mandir”?

(a) Pulin Das
(b) Bipin Behari Ganguly

Sir Syed Ahmed
Khan

(c) Barindra Nath Ghosh - Ramakrishna
(d) Bhupendra Datt Pafan.lahamsa
~ Shishir Kumar

Ghosh

86. Match List-I

correct answe 89. Which of the following statements

List-I regarding Third Anglo-Burmese War is/
(Newspaper/ are incorrect ?
Magazines) 1. This war took place during the regime

of Lord Dufferin.

2. After this war, Burma was finally
annexed into the British Empire.

A) Som Prakash
B) Gyan Pradayini. 2.
C) Bombay Durpun 3. Naveen

Chandra Roy Code :
D} New India 4. Ishwar Chandra (a) 1 Only (b) 2 Only
Vidyasagar (c) Both 1 and 2 {d) Neither 1 nor 2
Code: 90. During the Mughal period, who
A B COD established a new unit ‘Chakla’ between
(@ 1 2 3 4 the Sarkar and the Pargana?
(b) 4 3 2 1 (a) Jahangir (b) Akbar
() 2 1 43 (c) Shahjahan  (d) Aurangzeb
d 2 3 4 1
SERIES: A Page No. 22 P.T.O.
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&
84. TEI-1 Y FE-1I § gofea &Y qen 9= K 1w
He i HeEA ¥ FEl IW FHT-
i1 -1
(g) (G )
A) BREE Al 1. 3d T
B) YRAHY Sevifes 2. guY ©% 99
it
c) f& fewa Sdpfesw 3. T W
it
D) wedfasw aftfe 4. O T OYEER
85.
86.
A B CD
@ 1 2 3 4
b)) 4 3 2 1
€ 2 1 4 3
d@ 2 3 4 1
SERIES : A
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90.

DHYEVA SCHODL OF COMPETITION

F | weor Ru u €, T 9w w st

(A) 3R g ) HRO (R) el T 2-

Afreras (A): o9 1889 T. sTeRfEE M=o W

Eaa gall

HRUT (R): TEH & U< W&Y & o Hl

A TN T SHHT &I IR T

2 few TU FHE | WE IT F TIA HISC-

e

(@ (A) T (R) S Tl € 71 (R), (A) T G
e Ul B

(b) (A) T (R) 3 W& € FRg (R), (A) T

Ave-amt 9 & wed § fefatad

FA B W AT/ ST /87

1. € gE IS THIA & HA § gl ol

2. WIS ® AR a9 F AfaH w9 @ ST
T o foen e mm

'ag:a‘_

(@) HaA 1

(b) =aaA 2

(¢) 1 3R 2 A

d Ta 1982

e e H TR WeR T uoeEr & v
‘SreReT’ WSk Weh <8 SehTS ehl TATUT ohl
gﬁ? .

(b) 3TFR

@) N
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A SCHOOL OF COMPETITIOH

91. The Mughal emperor Akbar established
the hegemony on ‘Kashmir’ in :

(a) 1586 AD (b) 1581 AD

(¢} 1584 AD (d) 1591 AD

92. ’Terai’, Which is a marshy and forest
covered region is the lower part of which

of the following-

(a) Lower or Outer Himalaya

(b} Lesser or Middle Himalaya

(c) Trans Himalaya (a) Stranger Gas - Xenon
(d) Greater Himalaya (b) White Gold - Platinum
st Oxidising - Flourine
93. Which foreign traveller has presented the
real details of the conspiracies and frauds RBeducing - Scodium
of the Mughal court in the description
titled ‘Journey to the Eastern Islands’ ?
&
(a) Sir Thomas Roe A4 g@i’l plantation, where
(b) William Hawkins o %ff\ et, this plantation is
&y
{c) Ralph Fitch N
(b) Steppe Regions
d) Peter Mund
(@ Peter Mundy {d) Canada
. ° @
94. Melanin is a natural %ﬁhemical Oxygen Demand’ is the
gives color to human . . .
in unit of measurement of which
It protects from
(a) Ultra Viole] {a) Air Pollution (b} Water Pollution
(b) Infrared {c) Noise Pollution (d} Al of the above
{c) X-Rays Radi: '
(d) Short Wave Rad 101.Under which article, the provision is
made that if any person holds the office
95. The development of profit, then he will not be eligible to
) topography takes place by«eﬁ% b, be elected as member of parliament ?
B ¥
morphology process? (a) Article 103(1) (b) Article 101(1)
(a) Ocean waves (c) Article 105(1) {d) Article 102(1)
b) Wind
(b) Win 'S 102. Which of the following is/are included in
() Flowing Groundwater the biotic components of ecosystem ?
(d) Flowing Surface Water ) .
1. Animal 2. Vegetation
. 3. Air . 4. Bacteria
96. About what part of Protoplasm is water? Code :
0, (o)
(a) 90% (b) 800//" (@) 1,2 and 4 (b) 2,3 and4
(c) 85% (@ 95% (©) 1,3and 4 (d) All of the above
SERIES : A Page No. 24 P.T.O.
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97. Which of the following pairs is mnot
correctly matched ?

(Continent) (Longest River)
(a) Australia -  Murray \
(b) Europe -  Volga
(c) Asia - Yangtze
(d) North America -~  Rio Grande

98. Which one of the following pairs is not
correctly matched ?
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92.

93.

94,

95.

96.

SERIES: A

GETITON

" Google Play

TS AEYNE 3RO 7 “TYHIT’ UX nrfaued
worue feman-
(8) 1586 %.
(c) 1584 .

(b) 1581 S.
(d) 1591 %

q’ S o et wd aeresTian W 8, =
¥ 9 frg & =1 Freen a9 2

() 4= =1 9y ferrad

(o) oY A Hed fewerd

(c) ora fewrer

(d) F8% femera

fora fodelt ot 3 ‘gel gl & ann’ T
oo # e SER % WSS W HEgg!
et forawe w&ga e 82
(@) W 2T 0

vy faferm sifea

() T fFa

(d) e g

97.

102.

Page No. 25

ot i o o e R e 3
(wETET )

(Ee8 ot )

o 1S st S oY ST U AU AT 8,
aE WHS W USE T W S g 87
(@) TR 103(1)

(b) STT=T 101(1)

(c) =R 105(1)

(d) TR 102(1)

frafafaa & sR-wa witfafast @ &

e Waew ¥ winfeaa feg s 872
1. SR 2. =t
3. 9y 4, SfrEr
He- .

@ 1,2 3 4 b) 2,3 3R 4
) 1,3 3R 4 (d) ST gl
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DHYEYA SCHOOL OF COMPETITION

103, The State Legislative Assembly does not
participate in the election of which one
of the following?

(a) President of India

(b) Members of the Rajya Sabha

(¢) Members of the State Legislative
Council

(d) Vice President of India

104. ‘Alagh Committee’ is related to :

(a) Unemployment (b} Poverty
(c) MSME (d) Banking

105. Regarding “Mission Poorvodaya”,
consider the following statements -

1. Mission Poorvodaya is related to the
eastern region of India and it was
launched from Calcutta.

2. It is dedicated to the jute industry.

Which of the statement(s) given
is / are correct?

(a) 1 Only (b)
(c) Both 1 and 2 (&)

106. Which one of the follow,
in the Nationa
Poverty Index?

(a) Health
(c) Education”

107. ‘Permaculture’ is r
following ?

(a) Oil spill into ocean thi
process

(b) Development of
agricultural ecosystems

(c) Use of genetically modified organisms
to increase agricultural productivity

(d) None of the above

sustainable

108.If the average of 5, 10, 15 and xis 20, then
what is the value of x ?

(a) 20 (b) 25
(c) 45 @ 50
SERIES: A

Page No. 26

109.The next term in the series :
XBZ, VDY, TFX, RHW, ? is:
(a) PLT (b) PJIV
() PJT (d) PLV

110.Which of the following groups is different
from the others?
{a) 3,11,13,17
b) 7,14, 18,37
{c) 3,5,41, 47
d 3,7,17,71

9 17 28 33

st fraction in E’%’2—9 and )

17
26

.What is the next number in the series

11,121, 1331............ ?
() 1441 (b) 14411
(c) 14441 (d) 14641

114. A boat, whose speed in still water is 6 km/
hr, covers a distance of 1 km against the
flow of the river in 15 minutes, then what
is the speed of the river flow?

{a} 2 km per hour
- (b) 3 km per hour
(¢) 4 km per hour
(d) None of the above

115. How many cubes of 2 cm length can be
made from a cube of length 10 cm?

(@ 5 (b) 25
(c) 125 (@ 500

P.T.O.
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EE
]
103, frafafaa & ¥ fora wmw & fTrafas o o
faem war wrr =& ot 272
(a) W o Tegafa
(b) T 99 & T B
(c) T faum aftog = Tl &
(d) 9RE & SIS

104. ‘srore wiufa’ =1 gy fog w @ 22
(a) SUSTR ® (b) T
(c) THUHTA ¥ @ T Y

105. fiem yaiea & =4 9 Fudf W fomw
-
1. forer yeie v & v & @ wefem @
T ST WO Hershal § geT B
2. 9% S SUN @ gufta R

Iugwr Tad T weEl § A wA-wA
/8

(a) w1

(€ 1e2==

106. T Sgarr Frear

107. ‘oA

(c) F IeAEHA sgH = AU eafirs w9 9
wenfa Sl w1 ST
(d) STF 9 wE T

108. IfE 5, 10, 15 AT x &7 3G 20 &, & x T

e fmeeT 22

(@) 20 (b) 25

(c) 45 d) 50
SERIES : A

%
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DHYEYA SCHOO). OF COMPENIYIGH

109. 3THH XBZ, VDY, TFX, RHW, ?

T anmen ue &
(@) PLT (b) PJV
(c) PJT (d) PLV

110, Frefafes ® @ sF-T wqg v & fir 27
(@ 3,11,13,17
(b) 7,14,18,37
(c) 3,5,41,47
@ 3,7,17,71

4
g* °§$% 5
&

1,55, 89..... HETE # 3FHT §

%ﬁ%’} goft 11,121, 1331.... H 3Teit Heam o/ 87
(@) 1441 (b)
(c) 14441 (d)

114, TF 3, Faaet wig <t § T 6 fedE 2
1 Tt o1 g0 =1 & vome & foes 15 foe o
T HE ©, A T @ waTE W feaet £

(@) 2 fwdr gfq wa
(o) 3 fordt gfaq =a
(c) 4 Tl ufg w1
(d) 3Sudw H | g T
115. 10 O TR & TH ¥ ¥ 2 WY, SianE amer
e o AT S W 27
(@ 5 (b) 25
(c) 125 (d) 500
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DHYEYA SCHOOL OF COMPETITION

116. What will be the muitiplicative inverse

I
of x
5 5
(@) % (b) 3
6 6
() —3 @ 3

117.A train covers the first 5 km distance at a
speed of 30 km/hr and the second 15 km
distance at a speed of 45 km/hr, then
what is the average speed of the train?

{a) 35 km/hr (b} 40 km/hr
() 32 km/hr (d) 42 km/hr

118. 10 years ago, Ram’s age was half of Moti’s
age. If the ratio of their present ages is 3 :
4, then what will be the sum of thei
present ages?
(a) 25 (b) 28
(c) 32 (d)

119. Which of the following number
that when divided by i
and when divided b
(a) 654
(c) 576

120.If one-third of
than omne-fifth
consecutive number,
that number?

(@) 6 b) 7
(c) 8 @ 9

121.In October 2023, the ‘Statue of Equality’,
the tallest statue of BR Ambedkar outside
India, was unveiled in?

(a) Maryland (USA)
{b) Ottawa {Canada)
(c) Melbourne (Australia)

{d) Hamburg {Germany)

SERIES: A

Page No. 28
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&
122.Which of the following statements
regarding ‘Nari Shakti Vandan Act-2023’
related to women's reservation is/are
correct?
1. This bill was originally the 128th
Constitutional Amendment Bill.
2. After being enacted, it became the
106th Constitution Amendment Bill.
Among these-
() Only 1 is correct
(b) Only 2 is correct.
{c) Both 1 and 2 are correct.

1 nor 2 is correct

ated in which district of
state, was declared

city in Sept. 20237

% Indore

Divisha

&

# Venture’ was unveiled by

in September 20237
NASA and ISRO

) 1202
(c) Five Eyes group
(d) QUAD

125.In September 2023, how many Indian
sites were included in the World
Heritage List by UNESCO during the 45th
session of the ‘World Heritage
Committee’ held in Riyadh, Saudi Arabia?
{a) Only One (b) Only Three
(c) Only Two (d) Only Four

126.In September 2023, which innovative
device for the safety of fishermen was
successfully tested by the Indian Space
Research Organization (ISRO) ?

(a) Akash Mitra (b) Nabh Mitra
(d) Dishamitra (d Dhruv

P.T.O.
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&

116. —%W OISR Uie® 1 22

—_
Q
=
A
—
O
N
|
=Y

v

© —3 (@)

117. U YomEr wom 5 fRH. w30 feRel./EL Wt
i § HeTeR ag w § o i 15 fRe. a6t
T 45 ferelt./5. Y TR W T T H T, @

i @ ofrEa i ferat 27
(@) 35 fetL/EL () 40 fewet./=
(c) 32 Tewst./e. ) 42 Tt =

118. 10 & U8 TH ®I g Hidl T A @ eh o
oft I TAAE R H U 3 :4 T, A
ST AT ST T AT T T
(@) 25 (b) 28
() 32 (@) 35

119. Tr=fafaa gensdl § sE-d T
T W AT W 5 9y
3 oF 11 N S
(a) 654
(c) 576

120. trﬁ:qmu"@rram'

121, AT 2023 H WG ¥ s fe@ sl AR
e H WA e g ‘Lwy o
ghaafadt’ &1 srreRo wel W A e
(a) TIvE (YoEm)

(b) STTE (FTET)
(c) Were (refern)
(d) ewr (S

SERIES: A

N b) 12U2
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Page No. 29

DHYEYA SCHOOL OF COMPETIVIGN

122. Afgell MU § Wefyg A vifeRr A

afafram-2023" % day o fr=fafeaa wem o

HA-E/Y T $/87

1. e fados god: 1289 Gfaum wRNdA
favze o

2. wifufrafia eR = Tve a8 10691 wigum
e fadzes

T |-

(@) Ha 1 TF =

(b) He 2 A B

(©) 1 &R 2 B4 &= 2l

d) =S

125. Taamr 2023 ¥ 9t 3R/ & fOR ¥ 90 8¢
 “faga eRieT @il @t 4590 W & ERE
TR g TR weE s @ fava

eigT et ® vt fepar wran?
(a) ®HIA TH (b) =HaA WA
(c) T J (d) Fad TR

126. fHAaX 2023 ¥ WRET ARy ATHUT HSH
(ISRO) ERT HPARI i e & o forw

TRTe IUFUT T e qrequr fepar?
(@) T s (b) AwfE
(c) feenfis (d) ¥4
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DHYEYR SOHON OF COMPETITION
127.To review the bank insurance norms,
which committee was constituted by the
Insurance Regulatory and Development
Authority of India in October-2023?
(a) Meena Kumari Committee
(b) Bhupinder Singh Committee
(c) Shashi Singh Committee
(d) T.V. Somanathan Committee

128. Which British Author of Indian origin
was awarded the Academy Book Prize-
2023 in October-2023?

{a) Nandini Das

(b} Shiva Chauhan
(c
(d

) Deepti Mishra

) Chetna Maroo

129.In September 2023, the licensing polic
for the cultivation of Opium Popp
the crop year 2023-24 was anng
by the Central Government
states, which one of the follow;
is not included in it?

(a) Gujarat {b

(c) Rajasthan

130.The theme :
September 2
Kutumbakam’?

(a) G-20 Summit
(b) ASEAN Summit
(c) East Asia Summit
(d) QUAD Summit

131.India's first ‘Vertical Wind Tunnel’ was
inaugurated by the Indian Army in October
2023 at which the following places ?

(@) Manusyari (Uttarakhand)

(b) Bakloh (Himachal Pradesh)

(c) Gulmarg (Jammu and Kashmir)
{d) Jorhat (Assam)

SERIES: A

Page No. 30

[s]
132.In October-2023, which space agency
launched a spacecraft ‘Psyche’ to study
an asteroid containing more metals
than rock and ice?

(a) European Union Space Agency

(b) NASA
{c) RFAA
(d) Jaxa

133.In Sept. 2023, India's first artificial
intelligence enabled anti-drone system
was unveiled by Hyderabad-based private

any ‘Gray Robotics’, its name

023, from which district
lahila Sarathi’ was launched

Chief Minister Yogi Adityanath ?

Gorakhpur (b} Lucknow

Ayodhya (d) Meerut

135. Oil India Limited was given the status
of Maharatna company by the Govt. of
India. What is the total number of
Maharatna companies at present?

(@) 10 b) 11
(c) 12 @ 13

136.In which district of U.P., the installation
of a 51 feet high statue of Lord Buddha
~ was announced in October-2023?

(a) Kushinagar

(b) Siddharthnagai;
() Kaushambi

{d) Sarnath

P.T.O.
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[=]
127. FRSR-2023 H WRAHE s frame ik fawm
TTHERTT g SR SYANE HMQUST @t |t
?q Torw wfafa =1 e feram wan?
A HAR wfEfa
(b) e e wiwfa
v fog wfufa
(d) 2. wmEee afafd

FFET-2023 ¥ W qo1 i fen farfewr
ARERT oAl UEhSHE T WIES-2023 | WA
Tewam wra?

(a) A 9
feren =eT
St fhsn

(d) =aT HE

128.

foaet 2023 ® %5 TR gA A4
fow waer o 2023-24 W W

129.

130.

(a) G-20 forER
(b) TiEEE e
(c) I uf¥mn qft
(d) ware fomer awer

N
«gia&

-4
DHVEYI SCHOOL OF COMPEYIVION

132, 3ERET-2023 ¥ fRe ofafle woidt 510 eeH
TS % ¥ 1fue argell | g feedt eeue
@ ST R ‘WIgehl’ THE ARy I Wi
feman an?
(a) T R T TS
(b) I
(c) STRUHTY
(d) ST

faeen-2023 ¥ B5verg feow el &5 Y woR
I Ve’ g0 TR Tt vew HEW ghawr
- S YOIl ST SRR fewar e,

133.

135. RG WK g et giear faftes o wene
HUH 1 I & T aduH ¥ Ha "eRd
wafE w gen fEa 82
(@ 10 by 11
€ 12 d) 13

131, ST 2023 § ARAE O gr Frfafed § 9 136. STRE-2023 W I T & fory el o wwmam
frg T W AR 3% TEet afiwe fie oE F 51 W e i S e #@
ZTA’ 1 e fehen T SO T2

) TR (STEE) (@) HTR
( ) Fware (ferreer wiw) (b) ToagreR
(0) TerF (S-HeHiv) (©) R
(d) @R (379H) (d) 9y
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137.Match List-1 with List-II and choose the
correct answer with the help of given codes:
List-I List-II
(Person) (Appointment)
A) Arindam 1. Permanent
Bagchi Representative, UN
B) Rajesh 2. Chairman,
Nambiar NASSCOM
C) K.N. Shanth 3. Chairman, PTI
Kumar
D) Sanjay 4. CMD, IRCTC
Kumar Jain
Code:
A B C D
@ 1 2 3 4
b)) 2 1 3 4
¢ 1 3 2 4
@ 4 3 2 1
138.Which of the following statements is/ar

correct regarding Global Innova
Index-2023 released in Sept. 20
1. Switzerland is top ranked in
2. India is ranked 40th in thi
Code :

{a) 1 Only

(c) Both 1 and 2

139.Which of th
correctly mat
{Military Exerci
(a) Sampriti-2023 -
(b} Harimau - In
Shakti-2023
SIMBEX-2023 - India and Singapore
Yudh Abhyas - -~ India and America
2023

—_
RIKe)

140.Clean Air Survey Report-2023 was
released in Sept. 2023, according to it
which city has the cleanest air in the list
of cities with population more than 10 lakh?

(a) Indore (b} New Delhi
(c} Pune (d) Hyderabad
SERIES: A Page No. 32 P.T.O.
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137.

138.

139.

140.

DHVEYA SCHOOL OF COMPETITIGN

-1 1 EI-11 9 GAferd s e = Ry g
T H eI ¥ W IW -

geit-1 -1

(=afem) (Trafe)
A) g e 1. wemh wfafafy, go
B) USWI AR 2. 374, AGHH
C) .U WY F{EAR 3. 1Y, G
D) W AR 9 4. HuHe, srEeTReE

(@)
(b)
(©
()

NN W WO

D
4
4
4
1

D= N = P
w w—NW

farat-2023 o W AfYaer TR Gerhich-
2023 & way HfrEtatad wul § ¥ w-
wer 8/87

1. TH gEewe ¥ 3y T W)
IRE o1 T4 gehi® H 4081

faaR-2023 ¥ wes Ty wdeor fwg-2023
S w TE, IO STER 10 W@ 9 sy
SEE e TR H Rl § wEy W an
g et & R?

(8) TRR (b) T feeh

(©) I (d) TR
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Test Booklet Series

BHYEYA SCHOOL OF COMPETITION

' RO-ARO (2023) -III- TEST-3

EXPLANATORY ANSWERS
1 Ans- (c)
T g 7-
(&) (EM 9 9wT)
° & -qe wertafa
. ua ~ ST
° =it ~TRE
® TR "‘{W‘ﬁq
The correct match is : X
(Fruit) (Edible Part)
e Mango ~Mesocarp
® Apple ~Thalamus
® Litchi ~Aril
® Coconut ~Endosperm
2. Ans- (d)
(TrT)
e Fe wie -
® EANISIEY -
weTd fRu e e welt g wE
(Disease)
® Delhi Boils
® Kala-Azar

(Black Fever)
All other pairs mentic

2

The correct match is :
(Common Name) {Sctentific Name)
B2 - Riboflavin

B3 - Niacin

BS - Pantothenic Acid
B7 - Biotin

4. Ans— (a)
TeM Tk EiE w0 2t Rkl @i 1919 F wwE d w8 2ﬁ|3émaﬁwmmm YFTHE ST B ® e
TR FATE 1.67 x 1027 TRm B
Proton is a positively charged particle. Which was discovered by Rutherford in 1919. The proton has a
positive charge equal to that of the electron and its mass is 11.67 x 1027 kg,

5. Ans- (c)
TR g arg w1 R B el W e ® W F W s )

The speed of air is measured in terms of the speed of sound by the Machmeter.
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E]E:%Elgg
P

6. Ans- (b)
Afhom (A) T FRU (R) W & & oo wROr (R), e (A) & wd swem T 3
HRAT WU T HE WOl o wee v € wifn e ik T @ "o whwe @ wned: e ) sl 0
ool W T i O SR Weue uw wiweel B w1 Fet et $) s wiw § weeii sreeRe a3
Assertion (A} and Reason (R} both are correct but Reason (R) is not the correct explanation of Assertion (A).
There is a provision of a federal system in Indian Constitution because there is a clear division of powers
between the Centre and the States. Although it is not a complete union because many provisions in it create
a powerful centre. Therefore, federalism is not practical in India.

7. Ans- (c)
TG T SRR 1909 1 Awl-favel gum o A W o S St @1 5w s Y o frte @ snar R
% foe wremifas sRafie @ waum fem o sifufem @ eefa ueelt SR BEd AR =T AEETT &) FHrfurw
iR frer e T wes yeR fael amenE w1 et TR 9 v uee o T [l gee s e T
al
The Government of India Act 1909 is also known as the Morley-Minto Reforms. This Act made provision for
communal representation for Muslims on the basis of separate elections. Under this Act, for the first time an
Indian was appointed to the Viceroy's Executive Council. Satyendra ad Sinha became the first member of
the Viceroy's Executive Council. He was made a law member.

8. Ans- (d)
WM o SRR 246 % TEd F 0T WA B weA faueh g gferl- wa g, wr g
Under Article 246 of the Constitution, for distributi %tween the Centre and the
States, there is a provision of three lists— Unio ist, St ‘hich are described in
the Seventh Schedule of the Constitution.

9. Ans-—- (b) R — e
WA W1 WG TOTEA! R Sl yorel » FRl Hfaae waw a9 € w6 afew
wa 0 ol wadE gonet @ e o
et Sl e ffew e ﬁ@ﬁ%ﬁf{ﬁﬁ%ﬁ@ﬁﬁﬁ@?ﬁ%%
e Rl wes Wy T 3 o
India's parliamentary sys mi%}te%ﬁsystem or responsible government. The
Constitution establishe 7 [ at %%entre but also in the states. Hence statement-
1 is incorrect. 5 s "
The Indian parlia iamentary system but there are some fundamental
differences bet - 3 iti ment is sovereign whereas the Indian Parliament is
not sovereign g

10. Ans— (a)
TE e 2

(arTesa )
° AT 169
® L. 275
° 3. 155
® . 263
The correct match is :
{Article) (Subject)

° Art. 169 - Creation or abolition of Legislative Councils in the states
® Art. 275 - Grants from the Union to certain states
e Art. 155 - Appointment of the Governor
° Art, 263 - Interstate Councils

1. Ans— (b)
bt R wifefirck Frmr €1 97 T WeR g st SeR fen T 3, i e ge s 1056’ 3
HR THR H TR W a5t oRee) w stenw g §1
Regional councils are statutory bodies. They have been formed by the Parliament by making an an Act, which
is the ‘States Reorganization Act, 1956’. The Home Minister of the Central Government is the Chairman of the
Regional Councils.
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12. Ans- (c)
g ! R feerd € i a1 weend 1 RRrn weEe % wd | feod g, SMF, W, Tar, e qen
T g9 e % Tt fu aer @ € W 99 W St B SR W e # RREE ©R ® A e §)
The arched position of the islands is called island arc. Sakhalin, Japan, Ryukyu, Taiwan, Philippines and
various islands of the Eastern Islands situated in the east of the Eurasia continent are island arcs. The
reason for the origin of these islands is the subduction of the Pacific Plate under the Eurasian Plate.
13. Ans- (c)
Aee & T IO Y TR TR T I 81 g foar 400 fR qe AT ST 81 SeenE ISR B AN e
W TEEH ol W R qe W e ded
The upper part of the mantle is called asthenosphere. Its extension is believed to be up to 400 km. Upper
Mantle is the main source of magma that reaches the surface during volcanic eruption.
14. Ans- (d)
e gae 2-
(veTeTTET ) (3wr)
° Ferragsit - 37’15@'{
® W - .T9E 39
. TR TaW - SicTwich
° o - AR
The correct match is :
(Volcano) (Country)
® Chimborazo - Ecuador
® Kilauea - Hawaiian Islands
® Mount Erebus - Antarctic
° Popa - Myanmar
15, Ans- (d)
e i = o= e w e
o  TEN-TSRY weifEd (weeT)
. .
@
® ilwéra; district of Rajasthan.
° r ir%@d .
® a situated on the western side of Sambhar Lake.
® serves, not for coal.
16.  Ans- (d) %Z?
FmarR el A e, £ feer 3, e W S sREf a6 8
Vembanad Lake is situ? » %\g’% gton Island is situated in this lake, where sailing tournaments
take place. &&6
17. Ans— (b) %@%@
Yo R T T A ofeem dme e A @ A e, qEm e seme @ a3
Among the states mentioned in question, the state of West Bengal shares its border with three countries—
Nepal, Bhutan and Bangladesh.
18. Ans— (c)
I, HEFS A M = & W WeAr wmH B wee Wl 9t §1 3 weer w1 fmiv W seHew g1 9
U M % A g B A e ® AT @ fu wfeg €1 Y Waer geed §1 v Sshaem @ s R 8
Rocks of Gondwana sequence are found in Damodar, Mahanadi and Godavari valley regions. These rocks
were formed between the Upper Carboniferous era and the Jurassic era. These are famous for coal deposits.
These are layered rocks. Fossils are found in these.
19. Ans- (b) .
e R g wifedl w1 qd 9 ufvew W@ w8 e o (srvree-fresm ), sl (), TR
(STETS), ®-2 (FNHRA Gatw)| ’
The correct east to west order of the mountain peaks given in the question, is Namcha Barwa (Arunachal-
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Tibet border), Annapurna (Nepal), Nanda Devi (Uttarakhand), K-2 (Karakoram POK).

20. Ans— (d)
g =l afEsEn fory o W sEfied R e wf afEeed o T W srafer #)
Nimoo Bazgo Project is situated on the Indus River. All other projects are situated on the Chenab River.
21. Ans— (b)
afeRer (A) ql HRU (o) M wE § Weg FRO (R), Al (A) H W s T R
g, ok R Ve S § iRt S @1 e W s ol dare w1 wey gesiel S g B wmey Ay
WENU T Hhd 2Q €, el wewur itk g @, wel ey e ST 2
Assertion {A) and Reason (R) both are correct but Reason (R) is not the correct explanation of Assertion (A).
Lichens are made up of both fungi and algae. In lichen, the relationship between fungus and algae is symbiotic.
Lichens indicate air pollution, where there is more pollution, lichens do not grow.
22. Ans— (d)
freraer slaimEl 1 v qgea: GaET H wE S0 @ oy fE W 8 w59 1o Fvaad B S UUR R, FwE,
ey oS, Yol Sefsl-
Anesthetic drugs are mainly used to reduce sensation. So anesthetics are- diethyl ether,
chloroform, nitrous oxide, sulphonal etc.
23. Ans- (d)
e w1 SRE TH T 9 8 g K |
The trade name of Potassium Permanganate is Lal Daw ntie%%;g in the question are
correctly matched. . %%*
24.  Ans- (d) )
Tl goa &
(Zr)
° =T
o Towterd
° Eas) A7
° e
The correct match i
(Disease)
° Plague
® Syphili
® Leprosy
L Tuberculosis™
25. Ans-~ (b)
N TEd ST Jftfier, ofefer & &y & wymyam
° T ST - ; EICEERCa i v
° Second Schedule - Provisions regarding allowances, privileges, emoluments
° Third Schedule - Format of Oath or Affirmation
26. Ans- (a)
I wH B QU HE W el Rl w e w1 @ ®@ A d uie w1 9o v e se e @ e
<R Y SR Fer & Y Seeen e § acdd ey e g 81 tw g Hefta e % qe
e ® wWHY T Tl w® Al % e) g w wha @)
Whenever the number of permanent judges is falling short to- meet the quorum, the Chief Justice of India may
appoint a judge of a High Court as an ad-hoc judge of the Supreme Court for a temporary period. He can do this
only after consultation with the Chief Justice of the concerned court and prior approval of the President.
27. Ans-~ (c)
woraa T Aegar wfifa gre € R fawrRet-
1. foen ufteg 1 TeH STUE €Y ¥ 99 U OSEl $ 9 | e Wi
2. foon wfwg ) wawNl, THEEEHN o wide frem g ey
3. foon oRwg 1 erema, et s =ifew
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Recommendations made by Balwant Rai Mehta Committee :

1. District Council should be constituted with indirectly elected members.
2. Zilla Parishad should be an advisory, coordinating and supervisory body.
3. The District Magistrate should be the Chairman of the Zilla Parishad.
28, Ans~- (d)
' sifre (A) 3@ed ® faeg ®RU (R) ¥ 2
Sl wfer T TR Tul # AW W R oW € wetE s fae dag ) oy s §1 a8 eriey wel
9 Wl W R w1 sfafifue e @ ol e, SR- Tod 9 Seagwl @ Yo € e Sl WRR H D)
Assertion (A) is incorrect but Reason (R) is correct.
International treaties and agreements are made in the name of the President, although the approval of the
Parliament is mandatory for this. He represents India in international forums and affairs and sends and
welcomes diplomatic representatives, such as ambassadors and high commissioners. :
29. Ans— (c) .
Hfeam (S8R 143) Ugufa 1 3 Aol & wmel W Seeen uEeE ¥ W o % SfER 3 81 S EeE O
% AfE T % @ BN R 3w A 25 Se9 AEeE ?, f @ d g SR T fus el W )
The Constitution (Article 143) empowers the President to seek opip e Supreme Court in two categories
of cases. High courts are the heads of the judicial administr: There are 25 High Courts in the
country, three of which have jurisdiction over more than
30. Ans- (b)
& gAe -
(=0 =)
° TS I AR
® TAREE =™ e
° FAleeh Sod IR
° T IR ey
The correct match is :
{High Court)
° Bombay High Court
® Allahabad High Co
® Karnataka High @
° Patna High Cofl
31. Ans- (b)
g B
(aTTEaT )
® 3T, 338
® 377, 148
° 3T 76
° HI 324
The correct match is :
{Article) (Provision)
° Art. 338 - National Commission for Scheduled Caste
. Art. 148 - Comptroller and Auditor General
° Art. 76 - Attorney General of India
° Art. 324 - Election Commission
32. Ans— (c)
e # i ekt gu ol }1 T W W Fgfe @ e sovew 3 R 98 9RG @1 TR €1, 99 e
% i # w9 F FE R F S B ST, A S AT F G F 10 TG F ST B U Tt @
TAHER o <Ak Al 1 A st 8l
Haum o THR TR AR FIE omoRe T D W R :
The Attorney General is appointed by the President. For appointment to this post, it is necessary that he
should be a citizen of India, he should have 5 years' experience of working as a High Court judge, or 10 years'
experience of practicing law in a High Court; and in the opinion of the President he should be a person
capable of handling judicial matters.
There is no provision in the Constitution for his removal.
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33. Ans- (a)
AfTHS (A) q FO (R) I T 7 R wRW (R), Aferer (A) &1 W@l =wem 2
fqum @ & wfaffal g wem ¥ 9Tk Tataer ® g0 feitea fea smar @1 weet sifueran e soo iR
e 60 @@ w1 R 1 st e § fon faum ww & et w5 wem 60 @ 500 B ot B 21 A T i SeEEn
T THE HR W A R
Assertion (A) and Reason {R) both are correct and Reason (R) is the correct explanation of Assertion (A).
Representatives of the Legislative Assembly are elected by direct voting through adult suffrage. Its maximum
number has been fixed at 500 and minimum at 60. This means that the number of representatives in the
Legislative Assembly ranges between 60 to 500. It depends on the population of the state and its size.
34. Ans- (d)
sfepe (A) W © fog ®RU (R) 6 &1
IRA % SUTUR F1 U, SR & ITOAR F Aigw W MURG 21 W AR 1 STUSLUR, Tl &1 98 & a1
R, 7@ T H U FEE 9% W UE W T @l B 9 T wefaes LUl ® €9 H 99 9% FE e §o5e
g for T Usgufa dRYR TEW T #R
Assertion (A} is incorrect but Reason (R) is correct.
The post of Vice President of India is based on the model of the Vi sident of the United States. But the
Vice President of India, if the office of the President becom does not hold that office for the
remaining term of the former President. He serves as an acti ntil a new President holds office.
35. Ans— (a) .
T, g 9 Fhead! 3oU 78 @1 U8 uEl # e i @ f H Ifhor i@ B1 ser
U I STeeliiesh TEETR ¥ SEY arel uh 3E U @ S % T W TE T HAA-2
3R FHe-4 TA i
Venus is the second nearest planet to the S mﬁé@l to west, opposite to the
normal direction of the planets. The Labrg wing # the North Atlantic Ocean,
which flows from the coast of Labrador, éé%gé Statement-2 and Statement-
4 are correct. it
36. Ans— (c)
wd gue -
(wga gier)
o Aiead i
° ECac e
o 3ftfen e
® el %
The correct mat
{Major Lakés . E ;;;,;
) Montbel Lake S
° Lake Baikal ﬁ%\%ﬁ
L Lake Urmia %
® Lake Garda
37. Ans— (b)
=ive =, ferrae ww & femen e o <iev FaR &Ik Jeg w0 siga 21 @ wive 9 ® W fem ¥, W 4520 W
w FOE R fomen fel w ged S w9 R
Chanshal Pass connects Dodra Kwar and Rohru in Shimla district of Himachal Pradesh. The pass is situated
at the Chanshal peak, which is the highest peak in Shimla district at an altitude of 4520 m.
38. Ans— (c)
TR T STEHSH B OR ¥ Frarerdt 1 oo, e, qeft, 9K ok vt wew AfE €1 At R wer Wy # et e
% oad AT WF ¥ et 71 R ofik AR suet wim wewe AfEr ’
Narmada river originates from the Amarkantak plateau. Hiran, Tawa, Dudhi, Sher etc. are its tributaries.
Tapti river originates from a place Multai in Betul district of Madhya Pradesh. Kshipra and Mor are its main
tributaries.
39. Ans- (d)
TR e, Teved e ¥ fer #1 yerm KU T e wed g W gRfem
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Payag Jheel is situated in Bahraich district. All the other pairs mentioned in the question are correctly
matched.

40. Ans- (c)
g e | g1 wwifa steen gx yeR o feufa @ fod e w) A ofg ot @ 9o gm W gew fiva 21
TR TR & T Soerl wwhr ot At ¥ €l yeive, sifaitem g frime, SR %o @ we Aif, ek sa A
Tl wer " HAfe sud whufem = R
In general terms, inflation or monetary expansion is a situation in which the price level increases and the
value of currency falls.
The government policies accountable for currency expansion are- deficit management, additional currency
issue, liberal loan and credit policy, hard industrial policy, etc. Hard credit policy is not included in it.
41. Ans- (d)
R IR A facta onel w1 Tk Hewul o R U8 Wl U 9Y @ U S % we del UH e §
qx & ok WM €, % %9 qo fawd & fo e 1
Money market is an important part of the Indian financial system. It is generally the funds with a period of
less than one year and is a market for buying and selling of such assets that are close substitutes for currency.
42, Ans-— (b)
THARAR (BT TRICRAA §aeX) &l ITAE 54 (8l
FII (Foreign Institutional Investor) is considered hot mo
43. Ans- (a)
1 §[7 2000 ! FERA & M W FEMA (fadeft gxr we
FEMA (Foreign Exchange Management Act) wa plem
44. Ans— (d)
P HgeH H S B & I qw
&
To correct the balance of payment;
substitution measures can be taken
45, Ans— (b)
SN SR Yelehich
39 YIHiE &
fore@ =1 wnfae
The Index of In
during a particu
monthly basis. This
46. Ans- (c)
e wfifa (1991) #t
¥ feord B
The National Stock Exchange wa®'established in 1992 on the recommendation of the Pherwani Committee
(1991). Its headquarters is in Worli (South Mumbai).
47. Ans-— (b)
2011 w1 e StoRT fdE & oTgem T W STqHfea STfaal Y SHE 4,13,57 608 €1 waifues syl wifi seEen
TN WA IW WW IR wefuer Srgiea sifd Swe amen fren @ 21
According to the final census report of 2011, the population of Scheduled Castes in the states is 4,13,57,608.
The state with highest Scheduled Caste population is Uttar Pradesh and the district with highest Scheduled
Caste population is Sitapur. -
48, Ans- (c)
waifus wfren wakar 9 5 R -
(Toa) ( wrgrar wfayra)
1. TR TR - 75.1%
2. [SLCEED - 71.54%
3. Mg TR - 70.82%
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4. sitan - 70.61%
5. RIERIEIES - 69.8%
The 5 districts with highest female literacy are-
(District) (Literacy %)
1. Kanpur Nagar - 75.1%
2. Lucknow - 71.54%
3. Gautam Buddha Nagar - 70.82%
4. Auraiya - 70.61%
5. Ghaziabad - 69.8%
49, Ans— (a)
Trefror SEET ¥ gaifae gvee 9hyg 9 4 U
(=) (gfg =)
1. HEeE - 27.2%
2. fasr ' - 23.9%
3. SRUTEd Wl - 22.88%
4. P T wIHR - 19.77%
4 states with highest decadal growth in rural population-
(State) ' {(Growth Rate) '
1. Meghalaya - 27.2%
2. Bihar - 23.9%
3. Arunachal Pradesh - 22.88%
4. Jammu and Kashmir - 19.77%
50. Ans- (c)
o ewarTia |reRar (2011)-
(&) ( we
o S - 94.9%
° ELSIES - 84.5%
o EIF - 81.3%
° [BE] - 75
Religion Based Literacy
{Religion)
® Jain
° Christian
° Buddhis
® Sikh
51. Ans— (c)
affues amor gy
(47.038) Rl
The state with the highest
lowest rural child population is, (47,038).
52. Ans— (b)
gl & ad 2010 ® 9RA H U favEa uy sifva e om fave el feaw v o 12 ewmm @l wEREn s @)
In the year 2010, the elephant was declared as the national heritage animal of India. World Elephant Day is
celebrated every year on 12 August.
- 53, Ans- (c)
Tl gt ?-
(uaa s @gT) (w1e3)
® e 3 - = A
. i) - e sl
® L 13 - SoEy uftadA
o A7 - oy S o wE
The correct match is :
(Sustainable Dev. Goal) (Provision)
® Goal 3 - Healthy Life
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54.

55.

56.

57.

58.

59.

60.

° Goal 9 - Promotion of Industrialization
° Goal 13 - Climate Change
® Goal 7 - Access to Modern Energy

Ans- (b)

I ol foqm weae B iR, o 9iR Sioar WReEdd He % werates fre § §1 s e sies
H feorm 21

The Zoological Survey of India is under the administrative control of the Ministry of Environment, Forest and
Climate Change. Its headquarters is situated in Kolkata.

Ans- (c)
SR T, e W feom ¥ woerE Ru T e welh g we gafaa S

Aghanashini Estuary is situated in Karnataka. All other pairs mentioned in the question are correctly matched.

( werrferat ) (TSgETE Sruft)
’ o HE

i
i
&

0 S ‘ ~ x
The correct match is :
{Species) {IUCN Categ
Neelkanth (Indian Roller)
Snow Leopard
Alligator
Indian Pangolin

Ans— (d)
SufeE w1 wnfeek ered & ‘wefi S
sifm am €, gafer 3R
The literal meaning of U
are the last part of Ved

&

% wHiv S SutTE SfRkw aftw @

he Guru to attain Brahma Vidya. Upanishads
Vedanta. )

Ans— (c) ]
@ g 8- 4
(FgoaTeRTCHT

o et
o LIEE)

The correct match is :
(Harappan City)

Rangpur -
Kot Diji -
Ropar -
Sutkagendor -

Ans— (d)

HITR o YT T (For Y $f) § weiR & wpuee o9 W ogfed w erasa § g dig SR @ et
BT o1l 59 Wiifq | faw e’ e A 1 Geher fRA T aen At w1 @ WREE- €N U9 9EEE o
fassm & Tm

During the regime of Kanishka (lst century AD), the Fourth Buddhist Council was organized under the
chairmanship of Vasumitra in the Kundal forest of Kashmir. In this Buddhisth council, a commentary called
‘Vibhasha Shastra’ was compiled and Buddhism got divided into two sects - Hinayana and Mahayana.

Ans- (b)
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(vt yreETaet ) (aref)
. fafse - fPraes gmeTR
. fewa - =g fam SR awr W=
. A - vt w A gen W feww
. afa - T YR & e T
(Mauryan Terminology) (Meaning)
° Vishti - Free/Forced -Labour
. Hiranya - Tax taken in cash
. Bhag - King's share in the Land Tax
° Bali - A type of religious tax
61. Ans- (c)
T g ?-
(i erfadr) (ad)
° AT - 1919
. TR - 1937
. EUIC - 1924
® g« - 1907
The correct match is :
(Congress Session) (Year)
° Amritsar - . 1919
® Faizpur - 1937
® Belgaum - 1924
° Surat - 1907
62. Ans— (b)
oA Bferw (1774-85 €) 4 1781 . H
o 1782 % H S HA 3 TARY W
Warren Hastings (1774-85 AD) est
Calcutta in 1781 AD. During this
Banaras.
63. Ans- (b)
a9 1193 . H
o
In the year 119
only complete it
64. Ans- (c)
afred (A) wEl ® :
FAREET TEA Foar o, FHY B A TG T foman s ot sgeren &t @ &@ & fag
T queR, favm em-u- - el
Assertion (A} is correct but Reas } is wrong.
Alauddin was the first Sultan who started collecting revenue by measuring the land. He established a separate
department ‘Diwan-i-Mustakharaj’ to implement his system.
65. Ans— (b)
T g 2~
(fersft ) (am e )
° FeaEAm - 1024-1030 %
o TR Tt - 1292-1294 %
N el - 1333-1347 %
° faferam =ifr=q -~ 1608-1611 %
The correct match is :
(Foreign Traveller) (Travel Period)
® Alberuni - 1024-1030 AD
° Marco Polo - 1292-1294 AD
® Ibn Battuta - 1333-1347 AD
° William Hawkins - 1608-1611 AD
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66. Ans- (c)

1. e & fda g5 - 192 %

2. frdeeme TEiE 1 9 - 1388 3.

3. Qamfera ST ARG STTEA - 1498 3.

4.  qARET F IS - 1565 3.

1. Second Battle of Tarain - 1192 AD

2. Death of Firoz Shah Tughlaq - 1388 AD

3. Arrival of Portuguese in India - 1498 AD

4. Battle of Talikota - 1565 AD

67. Ans- (¢)

wE gHa B-
(=) (TrrET)
. TR - HREE
N I R )
o RIEx - g
E1E - s
The correct match is :
(Kingdom) - {Dynasty)
° Berar - Imadshahi
® Ahmadnagar - Nizamshahi
° Golconda - Qutubshahi
° Bidar - Baridshahi

68. Ans— (c)

F W ATME oA Ghledr ¥ Hig )
Lothal, situated at the banks of B
situated at the sea coast was the

Tl ¥ R u gd 2
¥. S.R. Rao in 1954. This place
ve been found in Surkotwa, which

69. Ans- (c)

:

The correct match is
(Major Philosoph
-Purva Mimamsa
Nyaya
Vaisheshika
Uttara Mimamsa

Badarayana

70. Ans— (b)
ST I, T Wi WReH a9 e on, foe won weaifie g faste s S on swenr el agee i wawer s
H firer 21
Vajpayee Yagya was a power display yagya, in which the king used to organize a chariot race and the king
was made victorious by his allies. Its mention is found in Yajurveda and Shatapatha Brahmana.

71. Ans— (d)

wE gad 2-

(TweRTeRT erfieR i ) ( fav)
o TUE IR - gferw
o wfy foufessr - &
o EHTERT - TAHY
o famafeafa gems - Teren
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The correct match is :
{Gupta Period official) {Department)
° Danda Pashika - Police
° Sandhi Vigrahika - War
° Bhandagaradhikrit - Treasury
. Vinay Sthiti Sansthapaka - Education

72. Ans- (c)
T WM T A A o e ariver ¥ @ R 6 w6 9 W e stg foge 9 Rien wew w5t ol weam
% e § g R&u e s wsft wem v R
Hiuen Tsang was a Chinese traveller who stayed in Thaneshwar for a few days and received education from
a Buddhist scholar named Jay Gupta. All the other statements mentioned in the question regarding Fa-hien
are correct.

73. Ans- (b)
i TaR STRITH H UG U TS 1936 § S § sifgel R RREM W ) T W1 WM sifEe
AR fReEm W 1 steaaar @it weeES O A Wt o
After the end of Civil Disobedience Movement All India Kisan 3
1936. Swami Sahajanand Saraswati had presided the First

established in Lucknow in April
Sabha.

74. Ans- (b)
IW TR H wEifs sTyfea snfa wfaeraar aren fSen ey
The district of U.P. having highest scheduled caste pe
it.

AT BEE 1 T A 7
d Hardoi comes after

75. Ans— (b)
w4 g=pa % @ TEE Tl S
= gl 7wt gafea B
Harsha Vardhana composed three ika, navali and Nagananda.
All other pairs are correctly match

76. Ans— (d)
TSE T 1 STEERON
All the statements : %;ntloned in the question are correct.

&

77.  Ans— (d)

a1 Tl qHeRER : Y 3 TefrEm 91 gEice U W wieeenti B S @)
YT wWH - e

El-Nino is the extensfey : cean Current which temporarily replaces the cold Peruvian. or
Humboldt Current. All 1 “Giycstion are the effects of El-Nino.

78. Ans— (c)
h R, HE ARG S qe T Tk | e = aiomras fafial @ sl om ®) Sefe s asd
@ o s s fafEl & sl @it ©)
Bank rate, Cash Reserve Ratio and Reverse Repo Rate etc. are under quantitative methods of credit control.
Whereas all others are included under qualitative methods of credit control.

79. Ans- (c) :
I YT T YSTHTE 57 T (Butea Monosperma) 21 o= wei I\ wEl gofea R

State Flower of Uttar Pradesh is Butea Monosperma (Palash). All other pairs are correctly matched.

80. Ans-— (b)
GRRTY AR3E T WA WEE 9N TS S9Nk @ &9 H W g B

Potassium Nitrate is used in making Gunpowder, and also as a fertilizer.

81.  Ans— (b)
T frafem smEm, foa o oIk veraa waurts wiive © Safs ger Falen sifver St wive 58 31
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State Election Commission, Finance Commission and Panchayat are the constitutional authority while Chief
Electoral Officer is not a constitutional authority.

82. Ans— (b)
IR WRW gt aefer wfeeea g fiel & e > HIiR > WeES > ged Rl
Districts of U.P. having highest Rural Percentage in descending order are Shravasti > Kushinagar > Maharajganj
> Sultanpur.

83. Ans— (b}
AEHIHT HH (1919) Y STEAYAN TIA Aig Aereitd 3 1 off | TS 317 < HRled] Mefl, Wil el Ve, ST S,
M W T qgA T Al
The Investigation Committee (1919) was chaired by Madan Mohan Malviya. Its other members were Mahatma
Gandhi, Motilal Nehru, Abbas Tyabji, C.R.Das and Pupul Jayakar.

84. Ans— (b)

&t gHe -

() ( HEITUE )
o RIS H - g w99
o YRdM ScRfow WET - TAEWA. "gERR
o f& Hswa Sumfewm uidf - W W 4
o wNifgew Afafre - Ine ™

The correct match is :

{Party)
o Forward Block -
e Indian Bolshevik Party -
[ ]
]

(Founder)

The Radical Democratic Party
Bolshevik Leninist Party

85. Ans- (c) ;
A A A 1905 § A ¢ ] 1 wifa o gafua ol Tod eTREs’ @ W@
ol R shifceRIREl Y HRy [
Barindranath Ghosh p £ andir' in 1905. It was related to revolution.
There was a spirit ess %iven to the revolutionaries was that they should
live the life of a

86. Ans~ (b)

e gae 8-
( TTeRT U/ ufrentd )

o TH Wl

o T WRIFA

° W’i ﬁfoT

o = 3ftea

The correct match is :

(Newspaper/Magazines) (Publisher/Editor)

e Som Prakash - Ishwar Chandra Vidyasagar
e Gyan Pradayini - Naveen Chandra Roy

o Bombay Durpun - Bal Shastri

e New India - Annie Besant

87. Ans— (a)
T 1889 % H firsl e TewR A erenfEan avidier Wi yEerd ®1 ol qE e SeRael fasial W | on swen
I TEM B W WET ® GAT ®1 A A w1 AR ke ¥ weg w1 Ay fwan
In the year 1889, Mirza Ghulam Ahmed started the Ahmadiyya movement. This movement was based on
liberal principles. Its objective was to re-establish the observance of the true form of Islam. The Ahmadiyya
movement opposed jihad.

88. Ans- (c)
o TEWNUH WAN (1873) - Sfgen w@
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o uERfrs dEES (1864) - W OWR IR W
o THEY HUSE (1840) - T R e
o sfsm & (1875) - ol waR =W
e Satyashodhak Samaj (1873) - Jyotiba Phule
e Scientific Society (1864) - Sir Syed Ahmed Khan
e Paramahamsa Mandali (1840) - Gopal Hari Deshmukh
e Indian League (1875) - Sishir Kumar Ghosh

89. Ans- (d)
A stive-amt 9§ (1885-88 ) H @ THRA % @ H gl mlwg@'@uﬁmwwqﬁmw@aﬁsﬁ
T H faen famn mm em@: ®R o wu s T R
The Third Anglo-Burmese War (1885-88 AD) took place during the regime of Lord Dufferin. As a result of this
war, Burma was finally annexed to the British Empire. Hence none of the statements is incorrect.

90. Ans— (c)
TEEE ) 3fee | ‘et g’ 6 St gl B, el 1 GhR H, SRR S WA W R |, Wewl %1 TS A SRy
R e ol i B A |
T Y G B s w oy R e @ e e S o ¥ W&R T§ IO % A e’
AW H TF T GH i TAGAT T TR o
From the point of view of administration, the Mughal
Sarkar, Sarkar into Pargana or Mahal, Mahal into Distri
The smallest unit of administration was the village, w,
Shahjahan, a new unit ‘Chakla’ was established betw

91. Ans— (a) Y
A FRINE 3T A 1586 3. W HIYHR W é’g@fﬁ'{ﬁ?ﬁamw@w
TR o S g Sigd STEEE & g ol : %Tﬁxivmﬂw%ﬁﬁm
In 1586 AD, the Mughal emperor A inty on rmr At that time Kashmir was
ruled by Shahmir dynasty ruler Y of Sg@%ﬁn Zainul Abdin. In this campaign,
Akbar’s army was led by Qasim Kh

92. Ans- (a)
SRR E Rt i i G
Terai region is the s

93. Ans— (a) \
W ThE q, Wﬁﬁw@%a@m@wamx?ﬁm
F IE’ A ym@a@wmﬁwwmélwsaﬁwgww
H @
Sir Thomas Roe came t ourf&i 16 15 AD. He was with Jahangir during his visit to Mandu and
Ahmedabad. In a descrip tney to the Eastern Islands', he has given a real account of the
conspiracy and fraud of the tt. He remained in the Mughal court for 3 years.

94. Ans— (a)
e T WElE aule € W Aa o, ool 3R uRaiie (Iris) W1 YRH Al €1 78 W fafeer 9 e
WEH B R
Melanin is a natural pigment which gives color to human skin, hair and iris. It protects from Ultra Violet
Radiation.

95. Ans— (a)
‘AN’ T 1 R WEWEIE adl N el 2
The development of ‘Tombolo’ topography takes place by Ocean waves.

96. Ans- (b)
Sragen w1 ST 80% | Sl BN 2
Approximately 80% of Protoplasm is water.

97. Ans— (d)
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safteT MY # WY ot o e @1 o= welt wE gifen R

The longest river of the North America continent is the Missouri. All others are correctly matched.

98. Ans-— (d)
TIY FH T, 0 Tkl U9 WOl Yol SO qo eliteed ®1 o wdt wd e 2
The lithium is a strongest reducing agent having lowest density and least weight. All other are correctly
matched.-

99, Ans- (c) .
‘trofel’ T YR 1 ST ©, STEl hedl o STEd Rl Sl €, U€ SH weid § el 21 Sie § HEe # SeRd
gheor-gat & o o Smr R
‘Fazenda’ is a type of plantation, where Coffee is produced, this plantation is situated in Brazil. In Brazil,
coffee is produced in the South-Eastern regions.

100. Ans-— (b)
S sifedsE |t (Biological Oxygen Demand) i@ gu0 61 &1 q&d o 81 Freh soes @ sl =t
siferral 78 THa 1 € R SW &9 w o W ¥ Wi @ @ R
‘Biochemical Oxygen Demand’ (BOD) is the main unit of mea, ater Pollution. Excess of BOD in
any aquatic region indicates that the water of that region § with sewage.

101. Ans- (d) t-.
SAeSE 102(1) % qEd g8 WauE R wan ® R Wi ¢, 9% GUE W W& Y S
% s B
Under Article 102(1), the provision is made t
eligible to be elected as member of parlia

102. Ans- (a)
o aege st wRkfeorfast o 1 fmio
The things which form ecosystem a

103. Ans~ (d)
T fagm 9w 9/ &
171(3) ()] & Tratem Tog & FrEifad ot 9 F gee B 21 gad
= faum gt ,
The State Legi lectioh of the President of India (Article 54(b)), the members
of the Rajya S )& State Legislative Council (Article 171(3){d). The election
of the Vice Presid oth elegfed and nominated members of the Parliament. It does not
include the membe ati\%%@emblies.

104. Ans— (b) . @ﬁféf ‘
Tl R, ITTH ! STeHa f @ wiafd o1 TS R T e SHeRT SRy e 9 o
Under the presidentship of Dr. lagh a committee was constituted in the year1977. It was related with
Poverty.

105. Ans- (a)
e yaiea &1 g ufved S ® AR @ DR T A HE YUE T 11 SFE 2020 1 AT 3HRT SR
I T 7 % WA § el WRa @i faee e @1 W § 6 wma & 1 a4 (sifewn, smave, UL s,
BUGTG) a7y W § 29 1 80 Wfavla oiie RH Ul S 2
Mission Poorvodaya was started by Cabinet Minister for Petroleum & Natural Gas and Steel Minister Dharmendra
Pradhan from Kolkata in West Bengal on 11 January 2020. It aims to accelerate the development of eastern
India through integrated steel hubs. It is important to note that 80 percent of iron ore is found in the eastern
region of India (Odisha, Jharkhand, West Bengal, Chhattisgarh) and Andhra Pradesh.

106. Ans-— (d) .
‘et g T gEetE, At o g S R ST €1 U avee @ uf stk @ud o @ S1ER W AN
Tl & HS WS FE B TEH A HIH ®Y ¥ WiRka oW ©- TeRe, foan ok Sem @R
The ‘National Multidimensional Poverty Index’ is released by NITI Aayog. It actually provides the current
poverty figures on the basis of per capita consumption expenditure. It has three equally weighted dimensions
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107.

108.

109.

110.

11.

112.

113.

— health, education and standard of living.

Ans- (b)
‘qrHTReE Wad S TeAfivR BN @ forg sifinda, iy wikfeerfient /5w faer ®1 9 1Y SRl @t e srevashand
TR €1 ¥ qU e B forg denfedsh gREM YR )

‘Permaculture’ is the development of agricultural ecosystems intended to be sustainable and self-reliant. It
provides an alternative model to meet the human needs of agricultural products in a sustainable manner.

Ans- (d)

5, 10, 15 4 x 1 3@ 20 & & x & HA

The average of 5, 10, 15 and x is 20, then value of x =
_5+10+15+x _
B E——
30+ x=80= x=80-30=50

20

Ans— (b)

The next term in the serie;

Ans-— (b)

3, 11, 13, 17
IR g

18 are even and ¢

Ans- (c)
13, 26, 39, 52 <l W4,
The LCM of 13, 26, 39, 52

12x9 17x6 28x4 33x3
156 ° 156~ 156 ° 156

=

108 102 112 99

= 156° 156° 156 156

Im: §§ e wg = R

28
Hence 39 is the greatest fraction.

Ans— (b) v :

TH GEEH 1 Yo ool We el 9 wund Semett w1 A ?1 oW: x 1 AW 21 g

Every next number in the given numerical sequence is the sum of the previous two consecutive numbers.
Hence the value of x will be 21.

Ans— (d)
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YEd 9t %H W (in the given series)-
11, 21, 1331
= 11 11 x 11, 121 x 11, 1331 x 11
= 11, 121, 1331, 14641
114. Ans- (a)
T H I« TR, @ w AT 6 fwdiE
T % fawla feen § 7@ & AT = (6- x)
9N = AT
1
6-x=1L(15 fe =t =2 ® wfEfda & ® 174 M)
4
6-x=4=x=6-4=2 TRdi=a
Speed of river x km/hr, Speed of boat 6 km/hr
Speed of boat against the flow of river = (6 - x)
Speed = Distance/Time
1
6 - x) = i: (On converting 15 minutes into hours it will be 1/4)
6-x=4=>x=6-4=2 km/hr
115. Ans- (c)
. . 10x10x10
FHEA WA W WA (Total No. of Cubes) = =125
8 2x2x2
116. Ans- (c)
(wé
6
)-8
EGH 5 5
The multiplicative inve foduct of multiplicative inverses is 1.
(_2 o -
Hence 6 ‘
117.  Ans- (b)
4 o . 5 1
e taken by the train in travelling first 5 km) =£=—6"5ET Hr
. 15 1.
(Time taken by the train in travelling next 15 km) =E=§‘5{ZI Hr
" 1 1 1.
HA 20 e @ H @ GWA (Time taken by the train in travelling total 20 km) =53 5 e Hr
_ Ki"f (distance) 5 )
L ?;l 1 elfEd = (Average Speed of the train) — . = — = 40 Tt /" km/hr
HHY (time) 1
2
118. Ans- (d)
oA 10 oy ‘Iaf T T Y (Suppose that 10 years ago, Ram’s age) = Pl (years)
10 99 Al i 3 (10 years ago, Moti’s age) = 2x T8 (years)
T4 & g9 (Ram’s present age) = (x + 10) EL] (years)
i o e | (Moti’s present age) = (2x + 10) EL] (years)
I W Y HT AT (Average of the age of the both) = (x + 10)/(2x + 10)
FYIAEN, (According to the question),
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=

(x + 10}/(2x + 10) = 3/4
Al (or) 4x + 40 = 6x + 30 -
A (or) 2x = 10
=x=35
d: 9 & TN ¥ (hence, Ram’s present age) = x + 10 = 15 a9 (years)
Qaf T & FAHE 3Y (and, Moti’s present age) = 2x + 10 = 20 9 {years)
. 3 W oA Y hi Tﬁ‘T {(hence, sum of the present age of both) = 15 + 20 = 35 &4 (years)

119.  Ans- (b)
Wy fower & mem 9 ofve W @ w9 fR S 9w R
forped (b) 9 589 o W-
589/13 = 45 Qe IS 4; qA-
589/17 = 34 WAl THA 11 =1 B
3F: 589 9% wem ¥ Ed 13 W 9w W W W 4 gor 17 @ 9w | W 94 11 =T
Such questions can be solved more easily through options.
On taking 589 from option (b)
589/13 = 45 and remainder 4; and -
589/17 = 34 and the remainder is 11.
Hence, 589 is the number Wthh when divided by 13, re divided by 17, a remainder
is 11. :
120. Ans- (d)
T 9% WA xR AU FHHLI W «+ 1 R
Suppose that number is x and consecutive
TRAIER (As per question) -
xhl 1/3 = (x+1)/5+ 1
1/8of x = (x+ 1)/5 + 1
x /3 =(x+1+2D5)/5
x /3= (x+ 6)/5
5x=3x + 18
2x =18
= x=9
121.  Ans- (a)
ISR 2023 H R
o fora mm ot
In October 2023, th
Maryland (USA). It is 1
122,  Ans- (c) :
AfEe ARG § Halfa At vrfert, afafEm-2023" & oy F wwww &y e IF wem e ¥ 1068 wum
RHICE] aﬁxﬁmmwﬁiﬂmawaﬁmmémwm|
Both the statements regarding ‘Nari Shakti Vandan Act-2023’ related to women's reservation mentioned in
the question are correct. The 106th Constitutional Amendment Act will come into force after the new delimitation
and new census.
‘123. Ans- (c)
ﬁmatzomﬁnwmsémﬁﬂﬁtéﬁﬁ%m%ﬁwaﬁWaﬁrw;ﬁ?wa‘rﬁﬁﬁmﬂmlaﬁwwﬁw
oo dig TR w eR # fava R g § Wit R e
In Sept. 2023, Sanchi town situated in Raisen district of Madhya Pradesh state was declared India's first
solar city. The Buddhist monuments situated at Sanchi were included in the UNESCO World Heritage List In
1989.
124. Ans- (b)
fodat 2023 # 1202 THE B0 WY SfaRey ST’ H SR A T 2u2 WY F 4 2w e €, 3o W, SR,
wgF T o w qug wimfem €
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The Joint Space Venture’ was unveiled by the I2U2 group in September 2023. 12U2 group includes 4 countries,
which include India, Israel, United States and UAE.

125. Ans- (c
ﬁqw(z)ozsﬁmma#ﬁwmﬁ@wgq‘fawuﬁmuﬁﬁ’aﬁ%ﬁm%%mqﬁwﬁmﬁmtahwahﬁ
forga R gt W wifter R . sed v frbaa (W Wme) den dwe & ufew Wi (wiew) whwfem f
In September 2023, two Indian sites were included in the World Heritage List by UNESCO during the 45th
session of the ‘World Heritage Committee’ held in Riyadh, Saudi Arabia. This includes Shantiniketan (West
Bengal) and the holy temples of Hoysala (Karnataka).

126. Ans- (b)
fager 2023 # ARA ALY STTHYM WISH (ISRO) FN AGHR &1 &N & forw ‘wufis’ st Suesseor &1 wwet udier
foman
In September 2023, for the safety of fishermen an innovative device ‘Nabh Mitra’ was successfully tested by
the Indian Space Research Organization (ISRO).

127. Ans- (a)
SRET-2023 § 9 i frmme o) fawm wite g S i wtem ¥ W gEd @l
T fRa TN TW ufhfa 1 SRvd o svEry e #) <
To review the bank insurance norms, Meena Kumari co by the Insurance Regulatory
and Development Authority of India in October-2023. The s to improve the efficiency
of bank insurance policy. .

128. Ans- (a)
FERE-2023 W WRdr ¥ ! fafew wifae
Nandini Das, the British Author of Indiad
2023. .

129. Ans- (a)
foawer 2023 ® % WHR g T
In September 2023, the
announced by the Ceny

130. Ans- (a)
faderR 2023 #
d Hu= gl ol 1
The theme of the G
was hosted by India. ¥

131.  Ans- (b)
STRER 2023 § WA WA EN \ W) H 9Ra & et afdea fie @’ W ssEea w9
I TS GO URAT O H o7 e ) ugel GO 21 vEe SRvd 4 wiewr fafvel | wifren ufed e
India’s first “Vertical Wind Tunnel” was inaugurated by the Indian Army in October 2023 at Bakloh (Himachal
Pradesh}. This advanced wind tunnel is the first of its kind in the Indian Army. Its objective is to bring
revolutionary changes in military training methods.

132.  Ans- (b)
SFZE-2023 W Al TS AT g WeeH UH 9% ¥ i uigedl @ g TR geiR % e 2q ‘WiEet’
sfafte oM e e TN T AR AW OR fage woieT gRr enfe S
In October-2023, space agency NASA launched a spacecraft ‘Psyche’ to study an asteroid containing more
metals than rock and ice. The Psyche spacecraft is powered by solar electric propulsion.

133. Ans- (a)
foaren-2023 # BeU feord Froft & &) w1 D Veifesr’ g0 e W wem FwhW ghgwen waw @ 99 womed
T SR feRan e, foroht ww R- gETR SESer WoTell 360° WX Ve I B
In Sept. 2023, India's first artificial intelligence enabled anti-drone system was unveiled by Hyderabad-
based private sector company ‘Gray Robotics’, its name is Indrajaal. Indrajal system provides 3600 security.
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134.

135.

136.

137.

138.

139.

140.

Ans— (c)

SEER-2023 H W WY F gEAwA Al sy g swhen fad @ Rrert wfgen @t w1 e B mm
frem w1 R faee Wi @ RS RO @ ewad e T R

In Octoker 2023, ‘Mission Mahila Sarathi’ was launched by U.P. Chief Minister Yogi Adityanath from
Ayodhya district. This mission has been launched under the fourth phase of Mission Shakti.

Ans- (d)

sitaet Sheen ffs &1 3 e 2023 FI HERCT 1 TS WA R ® 9K HeRel HAFEN H He wewr 13w W A S
f& = %‘ BHEL, BPCL, CIL, GAIL, IOCL, NTPC, ONGC, SAIL, PGCIL, HPCL, PFC, REC, IOC.

After Oil India Limited attained Maharatna status on August 3, 2023, the total number of Maharatna companies
has been increased to 13. Which are as follows- BHEL, BPCL, CIL, GAIL, IOCL, NTPC, ONGC, SAIL, PGCIL,

HPCL, PFC, REC, IOC.

Ans- (c)

SERER-2023 § TW WY B Brema foed § e g w51 We I wfww F o #oston w5 W)

In Kaushambi district of U.P., the installation of a 51 feet high statue of Lord Buddha was announced in
October-2023.

Ans— (a)

e gae 8-
(=afem)

° aified AT

o erer HAifarar

HA. WA FHAR

T HAL S
The correct match is :
(Person)
Arindam Bagchi
Rajesh Nambiar
K.N. Shanth Kumar
Sanjay Kumar Jain

Ans~ (c)
foqesr-2023 § SR

WIPO B WY }
Both the state
Innovation In‘ 3

Ans- (b) ;
Bfrs: wfeRi-2023, 9Rd
Harimau Shakti-2023 is a
pairs mentioned in the ques

Ans- (a)

fomaR-2023 ¥ wes arg wdur Rod-2023 S w1 T, 306 STER 10 @@ ¥ e Seeen S TR OE g
T wed wres a1 TR TR HT 2

Clean Air Survey Report-2023 was released in September 2023, according to which Indore city has the
cleanest air in the list of cities with population more than 10 lakh.
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